| Lecture 8 ]

i Adjectives ]
H Lha gl @l ) 5 claall 2l #) H
Adjectives:
Adjectives are words which we use to describe people, things, events... etc.
scliall
H lalaa¥l s e ludl) ¢l Caia ol Lpaaii CilalS (e 5 5l o H
eAdjectives can be divided into two groups:
i 1. Attributive Adjectives )

Attributive adjectives appear before the noun.

% e.g. Thisis animportant lesson. |
H 2. Predicative Adjectives H
Predicative adjectives appear after the noun, in the predicate.
r e.g. Thislessonis important. J

O gana ) cliial) ol UiCay

H il cliall i Attributive Adjectives -1 :
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4l 5l saiudl) clicall i predicative Adjectives -2 }
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s ddiadl) cldal) ¢ g5V gl -1 ;
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(pre-modifier) 18 Jaee S au¥) Jd L a3 s & ) 138 e e
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(This is an important lesson): Jéall 13a 4 1
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L O SY LS g 4o sana (o8 5 (NP) 4xend 3_le & > an important lesson
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D AaS gl o) Baiuall cliiall ; AU g ol -2

‘“}‘3’ clause I (s 5ia3 O amy Aapusdl Joall U S35 (insdl) -Predicate) 41 5 Jelill e aaads US Laxie | 5,835 13- }\
i .l s Predicate s 2l Jeld Jesentences il
. 1 b ¢ 5S5 diall 538 o (5T) an) 30 el Predicative Adjectived) o Jsii Gllaiall 138 (e 131 - |
I (Predicate o
. (This lesson is important) : Jiall 3 [
| J\
H: This lesson < (NP) 4xas¥! 5 jlall of aadls ]
: |
| (NP) a¥! 52 lesson s il

A 8 & eda(important) 4alS 13 «(is) 453U Jad any s (lesson) aw) am & el (important) daall (Sl

W (Predicate) H
3 This lesson< & dlaall o2 & Jeldll ]A\ o
U‘:, isimportant < s Predicate s H
| |
Uu Predicative Adjective = W 523 1M ¢ Predicate J) & <& gk 4dall H
| |
W eMany adjectives can be used both attributively and predicatively, e.g. the adjective H
H “important” in the two previous examples. H
| e g |
ﬂo \ﬁ . 3 O\ . Y] Q \ L:)A ’.~ \* oﬂ
E L 4085 4l oxisa — predicatively S s 48 - attributivelyS 5
S Al s attributivelyS 5 )6 jedad 38 ¢ ol liall 4 “important” ddall aadl JUa il

|

predicatively :

il

eSome adjectives can only be used attributively. )

e.g. main, principal, chief 1

5
.
.
.
.
Il
H - attributively S dad 233305 o (S4 cliall s 5* }
-the main reason is v/ predicate 3 & (N) aw¥! Jd jedai Jed gi_
H -The reason main % 8 elat laall 038 (main, principal, chief) :J% i
b |
H ¢ Some other adjectives can only be used predicatively. ;
Il ‘
H e.g. afraid, asleep ;
I :
H : predicatively < L aaiis of (Say 5 AY) cliiall (e * ;
“ e B el o i Y 5 predicate ) o b anY) e ek el )
i
Il ‘
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H (afraid, asleep ) : J4a H
ﬂ% predicate-! 8 b aul) ey ki cliiall s2a- H

The man is afraid : J -

My brother is asleep
H Asleep my brother here : Jsall LiSay ¥ (<1 H
Afraid the man is here
(«x$s0 o ) predicatively J) e siSall LgIE Ads saloss

[ ~ L) &5 o 5SS predicatively 4 8 claall G ) shaY 1 J s ]
I cclaall 8 e i) G el SSaclui 21 9> (an sl a) |

Ue, * Adjectives used only predicatively tend to refer to a temporary condition rather than a H

U‘:, permanent characteristic. Look at the following adjectives referring to health in the H
examples below:

U% e.g. 1.The old manis well today. H
I |
Uﬂ In example 1, “well” is a predicative adjective that shows a temporary condition. H
| . ) )
H (e Y (450 s - temporary condition) ) s sale predicatively ) ki aaaiud cleall* H
I .( 3«33 4pals -permanent characteristic) |
I I
i :(permanent) s (temporary) o= G g a* Il
r% I
5_mald oddl & 5 < Temporary =

.

.. . I

(lasting — 4«ila) 5 a5k o2l & 5 < Permanent i

e b ¥ 4aay > (The old man is well today) :Jte )

(4%« A - temporary condition) e 2525 & 5 predicative adjective < well Sl °}

ol (B 5 Gmise 08 8 Glal) (any 8 ¢ dlld aay Juadl daaay ja2y 38 (The old man) Jsaal) Ja il 13 7
5 e A A (g 5S) 38 g A y

(S gl (B e g ol A s

Compare example 1 to the next example, where the adjective “healthy” refers to a
permanent characteristic.
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W’ e.g. 2.Heisavery healthy old man. H

The old man is healthy.

| .( 4l 4zl -permanent characteristic) > He is a very healthy old man- J
| |
| 0sSi o) " healthy ddaall s3¢d (e 13] cim s La 1500 53 lian Ay §saall Ja ) 1a- )
| (4433 4ia - Attributive Adjective 5 s2ius 4ia - predicative adjective) )|
| .(( Al sl -permanent characteristic) e 2525 )
f |
Uo ¢ In a few cases the meaning of the adjectives changes according to its position in the clause. DU
| J
ﬂ" e.g. Ahmed was late. (Ahmed did not come on time) H
1 \°
" The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead) S
Y .. clause J\@L@M,wu\gcﬁqhmu@d\d:ﬁayu@ o
I o) an sl e Caling ina Ll ) oS aus) U Al i 13) 1) - ]
| |
| Ahmed was late :Jt 1l
| L o |
W fhoall a8 b &l deal) o oo daall 238 8 (Jate) AelS xa H

ilaall o2 4 & predicative adjective ( late)-

| The late Ahmed Al-Ali lived il Jadl & LS " Attributive Adjective” Ala 8 5 38 ( ate) dalS- J
% here. &
Uo N < Ahmed H

NP 2 543ul 4 saae < The late Ahmed Al-Ali |

(N) a=Y) J8 & yels 5 Attributive Adjective < late )

Sl il i cle Ahmed Al-Ali o s Wliss < here i

Sall cddll 8 Cue padd s > The late Ahmed Al-Ali i

)

Attributively < leexiiui 5 Ll Laxie ( |ate ) 4alS] juahy iaal) 13- i

:Jsi8 (Ahmed was late) (15! dleall Jine (i ad Attributively ( late ) 4alS alasiu) Wiy askall- ;

The late man fined be arrived i

AL da i G w3 4 oS35 " Attributively' Wl il sl 8 Cseka (late ) dalS of Jaadl dleall o2 A
P . ‘L " ;.

. Y J8 Attributively S L ( late) el ardivi cile 38 La fasf ol Jsal) U )i 13) (815 Joas 8 i

(l1atd dalS a2aiud o) iy aanall i gl 6 ol ol (sl (ol Jsil) ool 13lcdna sl Cavny sy nall- A

(late) AalS aladinl liSay < e 38 Gads ol Jsill 3 53 Lexie (Ssepredicatively sl Attributively < \
L Attributively < |
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[[: Exercise. i

U% Decide whether the underlined adjective can be used only attributively, only predicatively or H
I3 both. il
H a. only attributively b. only predicatively  c¢. both H
1. He is a smart student.
I Li€ay a2 € The student is smart < Jséll LiSa Ja 4

predicatively sl Attributively < Lalasin) (Sadll e smart 4 13

I c. both s lsall |
I 2. The child is a sleep. H
¢ predicate) (8 a3 ) 56l L ¥ (A aaddl liall G b asleep a8 o 05 S5 LS
I The asleep child is awake now s

predicatively a4 5l predicate Jl 8 ¥) a2ais ¥ (asleep) dalS 13)

L, b. only predicatively s <l sall 13) -
H 3. One of the main causes of lung cancer is smoking. H
(causes) aw¥! J& il (main) 4l
g% ) Jé Gela 5 daall <main U

~Y) < causes

1l 8 LS ¢ " predicatively” U o) oS da S5« " Attributively” el (main) dalS .

The cause main of lung cancer is smoking ]

. Attributively ks G (main) 4 1)) « Wi€ay ¥ Y 1

a. only attributively s gl Gl gl A

4. Are you afraid of the dark?
s 68 38l o8 (e yaall 1A 58 |

1J 5 (i -statement) ol 4 sa o) ang Lia }

You are afraid of the dark i
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H ) Leli 523 iy a cpredicate » 13) (are) 2= predicate JI s <iela afraid 4alS of Lad H
H 13 ¢ (afraig casball o2 (pe Al 5 il 4guul g Wiy V.Y Attributively H
U% b. only predicatively s& <! sl H
I |
| 5. This runner is fast. I
| . |
‘T He is a faster runner : Jll LS H

The fast runner is here

b Attributively s predicatively < (fast) 4l alasinl (Seall (e 13) il
I c. both s a0l T3 |
I J
\ H H |
Adjective Phrases
| ]
I Adjective Phrases : Il
\ |
L‘% Adjective phrases are composed of an adjective (which functions as the head of the phrase), ‘
I |
W’ a modifier (mostly an adverb), and a complement. H
I : Akl il Ll ]
| |
|  Cye Callt Adea 1 5 JLuall ]
| |
| -3 ik 05S Lgalane > laxa - modifier =2 3ball (ul S Jasd ) 5 > 4iia - adjective -1 1l
| 4l - complement |
| ) |
i 1S gt Adaagll Qi lad) I
%:, Bokall Gl I 8 Adal) oda Agdn 5 g et ddal) e (g giaiad -] “
I J
L s ale (5S5 Alaeall o 5 Aldeall 5 dbal) o (s gin 38 -2 )
Il |
I J
I ALK 5 ddall o (5 5ias 36 -3 l
I il
IL - “ . N .
ﬂ" W\}dﬂ\j@d\écé)mﬁ-4 °}
i i
H"o Modifier Head Complement :
H"e Good :
H"o Good at Mathematics :
- very Good +
H‘a very Good at Mathematics :
b Jl
]
I D Joaad) Badd )
I il
L ) L
H Lablad Ll o Lgiada g 5 44a Lia > good -1 }
. il
ﬁ% e 2535 ) G Jsis Bale L) Jadh oaal 5 RS e W) (55in3 Y Ll e a Il A 1 5 )l Lo se i ;
W’ Tow) Ll S 13 Layf daad) £LuiY) e (Phrase) dalS axsivs of WSy (81 5 (Gl (e 42 gane i
i i
L 5
Il |
L 5
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S S (S (R R L e
ANl 4ga 4SS
| o !

g5l A g A adas Gl e ) A a5 adia Jedil dia s G jle Leie J 585 LS (classifications |
(4 G ST e |

s palic 5 il )l s Lesie Ja) ) 5aY1 Jaad B 1 3 Lalls (good) AalS e i o LiiSay 1) -
good at math -2

. (good) Ll U 4lSa il s 5 ( Proposition phrase — Js s 5 a3 e) & > at math

5 kel 03¢d Gl Il & 5 4ia 8 > good

(1B Jaza) 4tia s 3 e & > very good -3

(g00d) (iU 4l Adias Ja 5 s (> very

5ball 03] (il )l 54 5448 > good -

AR yualial) Uil Ua -4

4a 53 ue A > very good at math H

(good) Ll U 8 Jaae 5 Ja > very

‘ . |

ol s? 5 44a > good H

(good) Ll 4l giiila 5 5 ( Proposition phrase — Jsose 5 Ja 3 ke) & > at math o

* Gradable adjectives are adjectives that express a condition or quality of which there are H
degrees. Pl
L il o3 sl e i 5l dsmg e ke Clia s 4553A clial H

43 2 100 4 sie 4 32 70 ¢y sie 4a 53 50 ¢ sia 4 )2 10 e 4a 50 0) Gla 2 Ll cildall o W A% i
(Rase }

e s e Talaie ! (gradable) il Led o8 of clacall (e 13- s

For example, “good” is a gradable adjective. There are degrees of “goodness”: i
.

(gradable) o 85l iy 5 4hia gd “good” AalS e Ll Ll 13) 1 Jial) J e :

|

:(goodness) 4xlSl s ja lia* 1

|

1. High Degree ;
e.g. very good o
2 (At pall) Adlad) A ) -1

J

very good /J% i

good (= s 581 very good 5_ke > very good 5 good (s G sy s sl e Ldaxdd very dalS Uil ;

|

I

]
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U% 2. Excessive Degree H

H “
U% e.g. toogood H
I J
LL : 4adgia ill da ) 2 |
| iy ; J
ﬂo Alad g5 Lae SIS (g caaB 65 (S5 o] ¢ 3 aliea >excessive H

(Itis too good to be true) « too good /Jt

| sl sagd Tum (050 o o o8 138 (a5 (S5 Al el gl (pa ST 5 @B Laa ST 4 iad 8 |

I s ¢ Mlie el A gram Ay Ciad o L 13) * Il
o J  $a A J DL

| |

I 4a 4 > The test is difficult - Il

sl & > The test is very difficult-

" beautiful" 4a181 43 i) 4a 31l &4 > more beautiful }

5 dall adaind ol 5l s Al 4 8 > The test is too difficult- P
3. Sufficient/ Insufficient Degree
e.g. good enough, not good enough
D ABLS ) g [ ABSl) An Al -3
- Lo o Qi (S e JSG o BS JK5) e (A -
H good enough /J%a U
i* Ll e e el IS IS8 s Lol inas 4 *
I il
H not good enough /a1 Jb ;
: Ll e et e IS 0 om i e:o
H 4. Comparative Degree i
e J
H e.g. better (comparative form of “good”), smarter (comparative form of “smart”), more 1
H beautiful i
H ;40,0 s a4 ;
I il
i Ciad Com (R o s Lo Rl AR da ) i
%’3‘3 " good" AlS & jaall da ol & > better /s i
l .
H "smart" 4alSl 4l Aa Al & > smarter i
Iy J
I ]
|

|

|

|
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ﬂ% 5. Superlative Degree H

e.g. best (superlative form of “good”), smartest (superlative form of “smart”), most

I beautiful I
rdaludadil) Al -5
) o e ST 08 st Junil a5 e AalS) il ) ]
" good" AlSl Alundill da all 4 >hest /dbe
"smart" 4l luadill da all & > smartest
" beautiful" el 4duadill 4a 3l & > most beautiful
U% ¢ Some adjective like “complete” are not gradable. They are not normally compared, nor H
l modified by “very”, “too” or “enough”. il
H o 5 a3 38 e il of Lalina (complete) 4l OY 435l a2 Ll oad (complete) die cliall s * H
Lo da o el epdaa s ¥ 5 Akt s o W G (perfect ) 3alS Ll
i (very- too- enough) led by 5 ()& Y Ll anhall (e Cliall 3a A

» Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only modify count

ﬂo nouns. They cannot modify mass nouns. H
e.g. Thisisa big building. (INCORRECT: This is big water.)
(size—pxall) 5¢ (shape—dSill ) 1 e 2t 8 Slall *
round, tall /Jbs :( shape — J<&ll ) - ;

|

big, small, narrow /J% : ( size — aaall ) - ;

(D) 53 50me pal) elandl) Jand () Leiay ¥ 580 samall slans) J328 Jah ¢ sl o JS0) i

|

This is a big building /J% i

|

(refer to size) a>> 2 > big 1

|

s aul 98 > building ;

Coaall e 3pns 4 a1 U (big) RS o ae aaall (ped s

This is big water :Js& Laxic (Sl
AL L Y celadl aan o iy Y sy Akl dlaal) Ui ]

Lolas aaallS daul) sacall i Led (shapes: JSEY1) L Giliay 3l 6 AY) cliall i |
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Diﬁj Function of Adjective Phrases i

L, Function of Adjective Phrases: d
\ |
| 1. Complement of Subject +BE ]
I |
I e.g. Ahmed is very intelligent. ]

dbia gl il ) Cailla g

L il ) 038 () sagiin Tua W saingd 13) ¢ yssaddl 5 jlall @l e o duan) el jlall cailla g e alu b S5 58 ]
a5l Jall 20
H A5 g3 Jab 4 Jelill ALegal) -1 H
ALSA) alay) Wiy Y 5 Alaad) (e JaSi1 4 ) g puim (o8 ALl
(main verb -l Ja8) ()5 Al sl o3a 8 4 5aSl) Jad-
“ Ahmed is very intelligent /U« .
alall o sl G Calall dxua sa g Aleal) sda  aall 5 ) adll Sis
Jeld > Ahmed
¢Alaall ine JaSil Aoga LY Alaall (a3 jlall 2 Cads (K Y 5 ¢ 4diia s 3 e > very intelligent
H Ahmed is very intelligent : Js& o sy ¢ dleall 35 5 Ahmed is ; Jsill LiSay b H
2. Complement of Direct Object
g"o e.g. Hefound Ahmed very intelligent. (He found Ahmed to be very intelligent.) s
: yblsall ( gaiall ALagal) -2 I

!

He found Ahmed very intelligent /J%s 1

|

laa gt deal) of iy 4l ¢ sp Aleal) Jiaa - ;

OS daal of ) (a3 5 Alaall ina o s Y ¢ Alaall g 5 i (He found Ahmed) 1Js& off LSy Y- i

. Aleal) (o Al 2158 (530 Gad il 138 5 (Lo 2nf s2n 5 il 0

(Ahmed) 525 bl Jsiall alee & > very intelligent i

)

3. Pre-Modifier in a Noun Phrase }

e.g. My very good friend is coming to visit me. }

s dgand B ke (A A8 Jaa -3 A

My very good friend is coming to visit me /J%

ol 585 2l > friend J
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4da g e A > very good
Asba g3 jbe Ll ¢ 4panl 3 e & > My very good friend

Ciela 35 (friend) an¥) Ji Ciela Gibea 5 Lall 0¥ (friend) aw¥) e (very good) Asdea sl 5 lall 13) -
a1 5 jadl 8 Lyl 5 )l 22

5 ¥l Al 8 ddall Lgiaa (e dpansY) 5 el an o ol LSl 5 ca¥arall o (3 psll Lo i 13) *
AT als Lo

He is coming to visit me :Js&# (he) = Waius 5 (My very good friend) 3_lall aas-
CAl3h A sl 3 el ) i Lia (g
4. Post-Modifier in a Noun Phrase

e.g. We must find the person responsible for the robbery.

D dgand Bke A g Jaa 4

We must find the person responsible for the robbery /Jta

sl 8 5 aul > the person
ol (5323 Jaas 55 44a > responsible

(him) @i (the person responsible for the robbery) SlS 5 jLall o3 Jagias of ¢Sadll (1 13) -
s

We must find him
(s Jane) (sl M) Jaxi 68 Aan) 3 Jladl ae 834 38 (responsible) dawall of Laadl-
5. Head of a Nominal Group
An adjective can be the head of a nominal group in the following special cases:
Tald Alls 538 > dsend de gaadd ) -5
(N ! (150 drans¥) de ganall 8 dale Gl Hl1 () Wl 5 2] il jlall 5 dpans¥) de sanall e Tl L 0 *
fob LS el e ganall &l )l 8 Al 065 S8 Aala Yl 8 oS
a. with a number of adjectives that refer to a class of people.
These adjectives include: blind, homeless, poor, wealthy, young, elderly, living, dead... etc.

The following are examples of nominal groups with an adjective taking the place of the
head:

Coll e A ) il claall e s pa -
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H blind, homeless, poor, wealthy, young, elderly, living, dead... etc /Jie H
| . . [
i onlly Olaadl (il 28 1) LI (e s (a3 Lo dlea 3 blind _SX Lave- i
< Aaall pda & OS ikl Culall &8 ) WeINA el el e Alas * homeless DAY Ladie- e
Al Aia b S il (A ) LA e i (a8 L dlea S poor S Lae-
I el b 4aand 40 saadd ol S Laladind LiSey cilinall o3a ¢ &) |
| ‘ : )
W (4&.\@ Q)S:al.@_}éw\)ﬂ) Aaul Gile sana ) Al ALyl * H
I ]
- We gave money to the poor. (the class of people who are poor) -
5 The wealthy must help poor people in our society. (the class of people who are wealthy) -
b The young are our hope for the future. (the class of people who are young) il
H (poor) & L Ll 5 (43l 4= 5e30) 585 (NP) > the poor -1 H
| ) )
ﬂ" Jsﬂ\hm@ugsm" \wtﬂ\wlﬂﬂﬁm@(poor)w\bj H
I o o ]
- 5 (NP) 52 alally Jeldl) () U SH LS 5 ¢(NP) 525 O shadl LS (subject -laiw) 434da 5 > The wealthy -2 s
ﬂ% diall 5 (The) 312V Lual Jad (Noaw) L) Gl Uia cdgan) 5 jlall (il Jll & 5 4dia o (wealthy) 4alS H
W’ .(NP) s& (The wealthy) «(wealthy) H

e A 8 € il (i) (e A3 4iia o (wealthy) e 1Y)

. (young) s» La daall 5 i)l 5 4senl 4c sane & 5 (NP) > The young -3 A
H Ll daa ‘f oS siiall u_u\.ﬂ\ (a a8l ddin ) (young) A< ]A\ H
I |
I b. A few adjectives referring to abstract ideas. °}

e.g. The unexpected happened. The unknown is frightening. 7

. SRt % (A J

(et Al Aalal) AW o }

Jaas Lg_\y Lewad Vg Ly y LiSay Y ;.\:\J\ Lalina (aA)_;A )lSéi - abstract ideas) | W ‘;\l\ Glaall ans- }
- . - ‘

Llde 3558 .

The unexpected happened /J% ]

The unknown is frightening °}

i U hla 8 Jgas IS e 5 jle Lagh Lagasad ¥ 5 Lagis ;) LiSay Y ((unknown s unexpected ) LialS- }
; il

Agand 3jle A dsan) 4c ganal (ul Sl jedai 38 (sl (lila- :

|

o N A 5 4and ke 8 Cela (Unexpected) 4iall «(subject — Ixix) & > The unexpected- }

. (The) 8139 i LaY) e ganall ]

- |

|

. (s303a JISl - abstract ideas) o) s (A s &xan¥) Ao ganall (il 5 4da o (Unexpected) AalS 13 - |
il

|
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H e ganall l )l & 5 4and 3 e & Cels (unknown) el ¢(subject — Iaix) 4 > The unknown- H
I . (The) s1aYL it 5 e |
. (s> )\l - abstract ideas) o) s & 5 daanY) de senall Gl ) 544 & (Unknown) &l 13 -
c. Adjective that refer to the people of a country.
L3 e.g. The English are very polite. (the people of England) o
The French are very interested in fashion. (the people of France)
DALl (el e (el () i Cliia
It The English are very polite /Jls i

Al de ganall Ll ) (& (English) diall 5 c4send 4 sane & 5 ¢(subject — I4is) > The English

| Al A5 (e a o il )l Aba s (English) 3alS T3) ]
U% The French are very interested in fashion /Ji« H
| I
| Aol de ganall Ll ) A (French) 3l 5 csaul 4e sena A 5 ¢(subject — 1xix) > The French 1l
| , . e |
W L 3 A g e pa Gl G ) 50l 4da & (French) 4alS 13) H

: Exercise. ":°
Identify the function of each of the underlined adjective phrases below. ]
a. complement b. modifier in NP c. head of NP °}
1. The driver responsible for the accident paid the fine. g
(driver) o U (sam: Jaas & 5 44a & > responsible

sl s8> The driver i

(N8 = Asans) 5 jlall Jlaind Wiy 43 Fans¥) 5 jlall Jans 3 L 3Ll ¢ b, modiifier in NP st <l sall 13 °}

S >The driver }

U ulul Jnd g8 45 0l Jad > was :
|

aleSh Ciela Lia 5 4da & > careless )

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

}

} 2. The driver was careless. I
|

|

|

|

|

|

|

|

|

|

}

} . Aleall e JaST aga a2 sa 5 (careless) IS8 ¢ dlaall 3 5 The driver was (Jdll LiSa Y- 1
|
|
|
|
|
|
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ﬂo a. complement & <l sall 13) H
‘T’ 3. He is a careless driver. H

.(driver) (sl )l L8 Jase 58 5 (a careless driver) sew¥) 5 sl (e ¢ 3> 58 > careless

I3 b. modifier in NP s <l sall 13) o
U% 4. The police found the driver guilty. H
| J
I . (driver) 4 Jsxiall alaa gb cileall ina JaSi Lealini > guilty ]
| . [
ﬂ" (subject — J=l&) > The police H
- J=é > Found &
b 4 Js2ée > the driver o
H Aliay) 3 el il ysipw G LB 3 45Y (The police found the driver : Jsis o aakiws Y* H
U% a7 Alaall oda (8 allay) 3 el el oan g 38 Sl pdll g cdla oIS @ G gl "EA aa il ma H
. L e s Gl o el 3l ]
| J
| cAeal) Sine JUSY daga A (guilty) dalsa T3] Il
| |
ﬂ" a. complement s il sall 1) H

5. The elderly must be respected.

5 (subject — Ixix) > The elderly B
H e e ganall Gl 1 oo 5S8 Aeall o Gy LSS 3l Al Al YN e a5 i > elderly H
H L Apan¥) de senall (Gl ) a5 ¢(elderly) ) dda 8 S sidial) (i) (e 238 4dia & (elderly)ials-
il

a5l 3 sl o0 (elderly) A Ty “

c. head of NP s& <l sall 13

aanlliaiaa. <y © H
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Lecture 9

Adverbials (Adv)
< gl
Adverbials (Adv):
¢ An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial phrase.

n .

¢ An adverb is a word like “here”, “tomorrow” and “quickly” which we can use to say where,
when and how something happens. It can also express other meanings like frequency,
degree... etc.

¢ An adverbial phrase is a group of words that does the same job as an adverb.
(AdV) =yl 38 il
(0S8 Caylal)-
Ml - adverb” e 5 < saal g 4dlS*
Maé a3 le — adverbial phrase” =X 5 < 3 le*

e (S 5 e 5 ol ) sl deadins of oSy s 5 (quickly -tomorrow -here) Jie 4alS s ;Jall-
S Al glaa e i o Ll LSy g (bl s dmn ) 5 i gll) o o slea Jany sed hoa Lo
(s sl da 3 - degree) s (225 5 3 6 - frequency)

Jall dee i Jaad I LI (e Ao gana (A 14811 8 jlall
Adverbials include:
1. Prepositional Phrases
e.g. We were waiting in the lobby. (adverbial of place)
tdadl o g )
D osoaall 5 el le-]
We were waiting in the lobby /J%
Sl Cayla Ui Ciela 8 5 5 3 5 ke 3ke & > in the lobby

Ugd caall &gaa lSa e el 43S 4l Caels Alaall o8 (8 5 cad )l 08 5 jadll 5 Hladl @l jle *
ite Gsial sl 5 Jalls e

A >|n
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NP > the lobby

2. Noun Phrases
e.g. | will visit my uncle this afternoon. (adverbial of time)
DAy Gl jlall-2
I will visit my uncle this afternoon /Jt«
Okl o plas gl uds 8 Jead 28 9 NP (4 > this afternoon
Gy 8 ) s 8 e LAl G Gy e it la 3l CalaS Lpadll B Ll el Lin®
5)LE) an & > this
N > afternoon
3. Clauses including:
a. Clauses with a Finite Verb (finite clauses)
e.g. We need to leave before it is too late. (time)
R i LS PR B W I g PR
(3235l @l jlall) g i) 138 se x5 caraa Jab ae & jle -
(2andlepaiille e M) G o a5 saaaall il jlall o Gl Ll LS
We need to leave before it is too late /Je
(22adlepazille e ) s e s (finite verb -2asse Jad) 8 > s
Ll aane ruai s Ll 03gd (Clause — 5k ) (& 2ana Jad Laa 5 13) e U S5 o 5
Ol Gk bl oda ka5 130« Ltk (before it is too late) & ke 13-
b. Infinitive Clauses (non-finite clauses)
e.g. | am playing to win. (adverbial of purpose)
(03354 ol Q\Jb;d\) o &}.ﬂ\ Jaa s a5 e yae Al e~
100553 3 Non-finite J ol alad Ls*
(b +v+ing) present participle Dhas®
past participle T
| am playing to win /J%

oAl daill 48 jea 8 Laclud iyl caela L <(to + base form of the verb ) sias s > to win

aanlliain a<yi ©



c. Present Participle Clauses (non-finite clauses)
e.g. He ran down the road, breathing heavily. (manner)
(03330 all &l lall) g sl 138 ge iy ¢ pualall U oy jeaill ) jle o
He ran down the road, breathing heavily /Jts

Ua Gela a8 5" bl Jeldll and 3 Lo AT Jnad jualall S8y pai 3 e & > breathing heavily
PYPHPEN 3 SO% S . P N A R [ PO RECTI I U 5

Exercise.

Identify the form of the underlined adverbials. <<<< dnall a Ua qigllaal)
a. NP b.PP c.finite clause d. non-finite clause = <<<< & JA

1. He visited me in my house.

A= >n

P.P {
nylbouse
b.PP @ s sl Y

2. He is studying to pass the exam.

(to pass) raall Jeldll Ll

(to) = oA of 322 y1ma sla (pass) Jaill-

s3ae e sl non-finite < ¢S Lty jabad) of lias Ui -
d. non-finite clause: s& i sall 13)

3. Ali has an exam this morning.

5 L3 @l > this
(when) ool 48 e & Liaelusi (NP) iﬂ _
o orning

c. finite clause 1 st <l sall 13

4. | will give you my homework after it is done.
(clause —olie) (& 5 sl 48 2 G Laclid > after it is done
2aa. Jzd 4 > s

. 1 s sl 13 >> (finite clause -saaae) 5 jlall muaiud 2aas Jud L Laa 5 13) clause ) of Ll
finite clause

aanlliain a<yi ©
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5. They walked together, smiling widely.

Loe b sl dd jaa A Laeld (Non-finite clause — s33ss e 3 ke ) (& > smiling widely
(23>« e — non-finite )45 ing + J28 > smiling

d. non-finite clause : s <l sall 13)

Many adverbials are adjuncts; they provide additional information, are part of the structure

of the clause, but are optional. Adjuncts include adverbials of:

1.

Place (position) telling us where (e.g. in the hall, there)

. Place (destination) telling us where to (e.g. to the door)

. Time (when) telling us when (e.g. at nine o’clock, today)

. Time (duration) telling us how long (e.g. for 10 days)

. Relative time telling us how long ago (e.g. just, still)

. Frequency telling us how often (e.g. always, rarely)

. Degree telling us to what extent (e.g. almost, barely)

. Manner telling us in what way (e.g. carefully, with care)

daglad) 5 pualaally 138 U S3>> (4n i) dael ) e Ll L83 al sill 5 cql 55 ()55 28 g plall*

Audln) e sbon T Uitk o Aleall il JLS) b Fage 2 6

Bl 5 snadly Jlall e 8 WLl LS el 55 Wil 5 )55 35 Ca g all (e 2p0a) B3]

optional- 4 kial a-

part of the structure of the clause, but are optional - 4l (S 55 bl eliy & ¢ ) A-
provide additional information - &bl e slas 238 _a-

il Jadi g gl

(0df) oo s 1 (Amag) lsall dijlaag

in the hall, there /s

(0 ) oo Lk 1 (Adids) Al i a2

to the door /Jts
) Al aald sese > Mohammed is going to the door : e il L) caald e (adis (e U iy
"4¢3 5 — destination” > to the door
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(e oot Caan i) " e Lsalz () lall -3
at nine o’clock, today /Jts
(Gind gl (g aS) e Uiy 1 (038) Glajll i jliag
for 10 days /J%
(rne gl (e o) oo Uiy s " pnad gl i " gl gl el i35
I just finished it > just /J%e
| still here > still
(058 bale ) g Uy 1) Sl G B-6
1,06 > rarely ¢ Lila > always /e
(e sl ) oo Uy tle dy ) i a7

3 s a5 e gl ) iy casdl La > | am almost done my H.W. > élis e — almost /b
(el ) sl dsy e

da (e gl S il olina L > | barely finished it while my teacher woke in > 2SI — barely
LJR0 Y & gl

(b b ) oo Loduile badl gl dglad i isbady B8
do it carefully > carefully /J%

you should handle it with care ¢« do it with care > with care

Exercise.

Choose the type of the underlined adverbials.
a. adverbial of frequency c. adverbial of degree
b. adverbial of manner d. adverbial of relative time
1. He always drinks tea in the morning.
a. adverbial of frequency 1 s sl 13) >> ) Sill G,k - adverbial of frequency > always
2. The climbers barely made it to the top of the mountain.

c. adverbial of degree 1 s wlsall 13 >> L da 3l Gk - adverbial of degree > barely
3. He finished the exam guickly.

aanlliain a<yi ©



H a. adverbial of 18 lsall 13 >> Lo Jaail 5 @l of i 5lud Ca ks - adverbial of manner > quickly H
H manner H
| [
ﬂ" 4. My friends just arrived from their trip. H

a. adverbial of 1 s sl 131>>L haall 5 gl §f i 5luY Gk - adverbial of relative time >just
H° relative time OH

5. They bravely climbed the mountain.

l a. adverbial of s <l sall 13 >> Lo aail §f &gl 5 o slulY s,k - adverbial of manner > bravely ]
5 manner -
U% Note: Similar to gradable adjectives ( Lecture 8), some adverbs of manner can be gradable. H
U% We can give different degrees of the meaning conveyed by a gradable adverb. The adverb of H
13 manner “carefully”, for example, is a gradable adverb. o
U% e.g. very carefully, more carefully, most carefully H
I |
[ Some other adverbs of manner, e.g. “perfectly,” are not gradable. ]
| . |
W " gradable adjectives" (e Al 3 palaall A Laad 1Al gale* H
el (s 8 L LU LAY s -
| Al sl (U8 () DDA e il 5 ina) (e (A3 5l il p2) Adlide Cila 3 pai o iy - )
| )
| :( gradable adverb - da ) < sldia Jla) 58 JiaS "carefully’ 4alS @l sl 5 cogluly Jlali* |
| )
W (A& yall) Adladl As Al - High Degree > very carefully H
I s |
%"" 45 aall 4a all - Comparative Degree > more carefully “

daluadill 4x )l - Superlative Degree > most carefully

@ sldie-gradable) | 558 of (Sar ¥ « completely — perfectly /die ¢ AT @l sf Caglu I al) (ans J
(= :

| aanlliain a <y © |
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I Position of Adverbials j]

U% Position of Adverbials: H
H |
\DL Adverbials can be found in three main positions: at the end, at the beginning or in the DU
| middle of a clause. )
| |
H: . d}ﬂ‘ eb‘}‘ ]
£ ;mu\ é..a\}A 3<_gumq§u})kl\* o
L (il T ) 3 A i Al 3 I
! ) ) ) |
! |
! |
H" 1. Final Position OH
1 \"
i It is very common for adverbials to appear at the end of a clause. &

e.g. Thank you very much.

U% () s sall-1 H
H . (clause-s Juall) dilgs 6 el of Caall diadll (4 H
| )
i Thank you very much /dts ]

. (clause-s_leall) 4lgs (B jeda 38 5 sk 4 > very much
l 2. Initial Position I

Some adjuncts, e.g. adverbials of place (position), time, and frequency can appear at the )

beginning of a clause. The purpose of this position is to focus attention on the location, time il
|
or frequency of events and activities. For example: .

Two days ago, | saw my dear friend Ahmed. (focus on time) |
In Riyadh, there is a big celebration. (focus on place) °}
1)) pua ga-2 i

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

}

|

: 8" frequency-_lS" 5 "time -kl 75 “place (position) -(4ssdas) GSall s LIS ¢ aol 8l (any
- o DS 5oLl Al ga cudl 5 Il o ) sedal Game o 2 el 5 (clause-slball) Aol )5 seks :
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

DS e (el e i Laxie) gl e o (3 k) 8 AasS Sl ol e Gaaats Ladie ) a8 sal) ;
sl g alaall %

J

il

Laall b clagladd) asall ol 05 3y 5 Chaaialla- A

Alaal) (8 Gl slaall (and adivsall ol 2l 3y 5 & ;

Two days ago, | saw my dear friend Ahmed :J%adl Jaws e~ ]

|

il

(el e 5S1) >Two days ago ]

i

J

i

J

I

| aanlliaina.<8 © 5""‘



U O Ol aanialls ey e asinaall slii) 231 g8 o) 5 Aol slincia g5 el e el il Ldal- H
I Aadl B Ll 5 13gd aga Lin a3 |
| saw my dear friend Ahmed two days ago :J s salall (ye-
% a2 52 5 age Alaldll (ff 1as3l Ua > Two days ago, | saw my dear friend Ahmed :Jsill Lyl (Seall e -
In Riyadh, there is a big celebration : 3! Jts
I (S L 38 50) > In Riyadh ]
There is a big celebration in Riyadh : J & alall (e -
In Riyadh, there is a big celebration: Js& gSall e aaiusall sbiil <l Ga i 13} Lagf Sadll (g5
% 3. Middle Position s
H Single-word adverbs of frequency, adverbs of relative time and adverbs of degree normally H
U% appear in the middle of a clause. Their position is immediately after the operator in complex H
% verbal groups (Lecture 5), immediately after the full verb BE, and before any other simple &
ﬂ% verb: H
e.g. We have often talked together. (after the operator “have”)
H We are still waiting. (after the operator “are”) H
We are very tired. (after the full verb “are”)
We still have some money. (before the full verb “have”)
We sometimes go to Jeddah. (before the full verb “go”)
L ! (cectial) S sl s 3a-3 ]
H dale (Lo da 2 -degree « il < sli-relative time ¢« Sil-frequency) & J) sa3U s ) clalSll (S ;
H (clause-3_leall) Jaus A& ekss i
{w 1098 pgadal ga <<< A gy 1938 w
(3 LS 3 Asalild] §_ualaall (8) saiaall yladl) Cile senall 3 158 (the operator -Jalall) a2 -1
H 58 (1) JalSI) 43 3l Jod 32y -2 i
\ !
1 A1 L i 983 I
i |
H We have often talked together /J%s ;
I il
H . (have) dalall a2 ¢ls (often)- ;
- s s Jlsm g olar o Kadll (e 5 «Jalall sa (have) ¢(have talked) saixs dulad de sana Lial- s
(talked) ) Jedll Jd 5 (have) Jalall 2ay ola 385 (Ca)k) Jla 8 > (often)-
\ \
We are still waiting /J%s 1
i |
H mallia.n a.$3 © Il



H el sa 5 (are) AsaSll J28 Wl ¢(are still) saize 4idad 4e gana Lal- H
I (waiting) =¥ Jedll U8 5 (are) delall any els 85 (CaLks) Ja 8 > (still)- i

We are very tired /Jts

I Jxb Cola U (are) 580 ub 5 edla Ciola (bl Job ol el ol 3 (tired) < A : 15 :
I Ll &
” (are) Jadll 2y s 85/ Ja > very enll e s J¥1 LI ol s/ el > We H
Laf Ja > tired L n o Dl s Alal (b (ull Ui / 2338 0o > are
| We still have some money /i i

.Y J8 Sl (operators — dal sall ) o Le s Y1 JladY) JS*

i Ja 45" have" Jd ¢l > still bl J2é > have Pl
| We sometimes go to Jeddah /Jis )|
| I
I (sometimes go) dla & L 1l
| ‘ ; ]
i " g0" eI Jaill Jd ela 5 Jla > sometimes (bl ded > go ]

Di Function of Adverbials ]

H Function of Adverbials: H
Some of the functions of adverbials include:
H gl s i
J

a5 i ) s e

\

1. Adjunct }

|

e.g. | knew her very well. ;

(e L) Kl (pe) Alanl) ine JLSY (55500 e 11

s skl ol @ gl W bl "very well' W Lial Laxie 5 4laiSa 4laa 8 > | knew her very well /JGe i

(Lt oLl Uay) ol o 50 iy 5 s g > (very well) 3 |

2. Complement of Subject +BE 1

e.g. That's all right. l
g‘o

Aleall e JLSY 45 i 1dighsl) Jad g Jolill Alasa-? -

|

il

|

il

|

aanlliaina.<8 © oﬂ



H That is all right = That’s all right /J% H
‘T Al g ) iy gk > allright il Jxd s 5 dadll > s ixiwll > That °°ﬂ

3. Direct Object

3 e.g. They didn’t tell me why. il
I sl Jonda)-3 ]
| )
H They didn’t tell me this : Js8 Wi Y > They didn’t tell me why /JUe H
| = )
ﬂ" Indirect Object > me s Direct Object > this ;0¥ H
- They didn’t tell to me : Jall LiSa ¢Sy a
| They didn’t tell me why )
| )
l (tell) J~dll " jilue e Js2ia — Indirect Object " > me J
| )
i (tell) J=all " 13l Js2éa — Direct Object " > why ]
I |

W’ 4. Modifier H

Adverbs can modify nouns, adjectives, prepositions and adverbs.

I Al sl 5o amally alle clialle sladll Jans o WSy J) a1 2 Jinand ]
NP > nearby hotel /1
NP il 58 5 N > hotel
g‘é o0 8l ol 8 5 il Js > nearby -
NP > way ahead /2

|

NP Gl s 5 N > way i

ol gl Jasdl 1 5 sk ol Jis > ahead ;

|

43iuay b e > completely new /3 :

(Aaall 5 jle) L sll 5 jlnll Gl ) 58 5 4dia > new

Lol ) Jaeall g8 5l o Js > completely -
.

43iay 3 e > quick enough /4 i

(Raall 3 jle ) Aia gl 3 jall 54 5 4ia >quick ;

il

oIl (gand) Jaxdll g8 5 <ol Js > enough 5

45 3 e > very often /5

| aanlliain a <y © |
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ol a5 sl sl Js > often

il Jadl a5l of Ja > very
4 5 e > quickly enough /6

oI a5 sk o Ja > quickly

@l Jaxd) 58 5 sk 5l Jls > enough
29, 9 Ja 5k > directly through /7
o) a5 s ma 5 s > through

ol Jaxall s g iyl o Ja > directly

Exercise.

Identify the function of each of the underlined adverbials.
a. adjunct b. complement c. object d. modifier
1. Are you absolutely sure?
Gl ) 54 5 4ba > sure
S sure'oe DU L8 Jaee g5 Gk 5l Jls > absolutely
d. modifier: s < sall 13 daall Jaa & " absolutely” 4lSé ¢ Are you sure? : Jall LiSay
2. The child followed his father very closely.

aie Laiuy) (S 9 &6 98 > very closely

a. adjunct: s o sall 13 PR LU PP P kY

3. He told him when to come.
J=é > told Jelé > He
c. object: s <l sl 13) il 40 Js2ie > when 8l e 4 J 528> him

4. The show ended very quickly.
438 )k 3 jbe A > very quickly
ol 8 Jase 585 sk ol Js > very ol W a5k o s > quickly
d. modifier: sa o sall 13)

5. It was all right.
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I il > |t I
| ‘ |
ﬂ° ‘smhn\y‘ Ll’-‘-“ LY} ?L:);;:SM d-’& > was oﬂ
- b.: sa <lsall 13 (ALeSa) (o L A plall Aada 5 13) ¢ Alaa) e JoSs a5 ks > all right o
ﬁ:’ complement H
U% —"diall e Lda gl ci jladl — g aall 5 ladl Qb ) oo daal ja & S b ydlad) B el A** H
| (A Bl ) ) — el il il ]

z;; | ecturelO |

I Basic Types of Clause Structure !

Basic Types of Clause Structure:

U% ¢ In making up a one-clause sentence in English, we have a choice of five basic clause H
U‘:, structure types in which all the elements are necessary. H

* These basic types can be expanded with other optional elements like adjuncts and J

modifiers. Bl
¢ Each of these five types follows the basic pattern: Subject (NP) + Predicate (VP). |

¢ In each type, the subject will normally come first and is the followed by a verb phrase. ’

¢ Only the composition of the VP changes in each type. |

Alaall ol 5l elid Al &\y"‘l\ -
|
|
é’}o

Canai o a5 iy 3laY) 43l 8 (one clause sentence -saals 3 be ) el Al 3k 5Ll 13- i

.@JJP)AU:ﬂoLMc?QJJmUﬂ\u'AL; o}
s pabic claclall sds (0 IS 3 5 (clause —alex 5l 5 ke ) el Ald ¢ 551 e <l a5 Ll 13)- ¥

ui L'\_)S.J LS c'ﬂ.\...,\j:\'.h\i\ palic }%J}J@ palic Loal TJ‘\ ‘(C|8USES—‘L‘\JLPJ\) 0l @m)ﬂ_d CSaal) (ge-

Il
Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

Il

I

i bl a3¢d b el aalitn ¢ oaal g3 jbe 8 dlal Al g ddane Jea 8 Ao < e aaliiu- }
I . . . .

Il

Il

Il

Il

Il

Il

Il

Il

Il

I

Il

H (subject — 1xisall sl Jeldll) 1Jia 4y 5 pall pualiall (iany 5 ¥ inall 5 ool gill A LGAY) jualinll 038 L .
Il
Il
Il
Il
Il
\
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‘T’ V3l 5 ol sUS Ll pualiall (mny dila) (Saall (g 5 jloall dpulsd 52218 Lipal (1S 13) T3] caliall 5 Jadll ‘T‘
) SRR ]

A ) Jaall) s sl £ 530 030 (e DS-

3 Subject (NP) + Predicate (VP) &
| JieliacaleSall fJie Ll (5 jal jualie e i ajled 4e sane e (5 5iny of (Sed) (e " Predicate™) & |
L J
D: Glia (S5 glad 5 jlmy 1 2 e 5 Aol iyl o adal) e (laid) 5 Jeldll) ¢ g1 1 oda (e S - H
I 5 _walaall lgh L Lgh jain Aala YL |
| o - : . )
i OSV 5 s Y sa LS iy Jelilld ¢ dusedll ¢ ) 0da (ga g 53 S 8 Aaladll 5 leall (a5 sn Lah Ly A1 i
ﬂ% CAladll 5 jlal) g iy A Al H

¢ The VP_may contain the following elements:

l 1. Intransitive Verb (abbreviated as Vi) o
U% 2. Transitive Verb (abbreviated as Vt) H
| J
| 3. BE or another Copula ]

4. Complement (abbreviated as C), which includes:

3 a. Noun Phrase (abbreviated as NP) il
H b. Adjective Phrase (abbreviated as Adj) H
c. Adverbial (abbreviated as Adv)
H 5. Direct Object (abbreviated as dO) i

6. Indirect Object (abbreviated as iO)

(M\ BJL:&) 3:\3...4)3\ B Ll Adj -« |

L
Il
.
Il
Il
|
L Aladl 5l el imny Loy iy Al pealinll 8 oda 1) > 1Al pualial) o (g gind 38 ddadl) 5 jlal)- )
I . i ) 1
L . -
Uo (Vi) a¥ dad-1 |
L al— Monotransitive) ¢ (Jsxiall A - Ditransitive) : o sl AS Jalii Lia > (V) gaia Jod-2 )
U(;, e 4l 5 458 a3 been"” (is, are, was, were) 4 gisl) Jdi-3 (Jsziall }
Il : . |
H% > (da gl ka5 J28 -Copula) ) o " Non-finite verb-2ass :
i He is here /Jta “
L -
U% 4ia 5l Ja > here drd > s Jeli > He }
Il |
U‘:, P . " 5 - ‘
I (o Il J28 -Copula) =35 038 > " here" daall 5l Jalb " He" Jeldl Loy " js" dalS- |
I i
L . . . . NI -
I .(have) 3 (been) aadiuiv lgin g 8a3a0 e 435Sl Jad muaiud (have) — 4500 Jed (B Lorie (S5 |
W Del A s daladll de sanall 8 L) LiSay yeaic 4 5 (C) AdaSall-4 Il
H DS (e (A 5 > Aanll 5 jlad) NP - ;
" i
5
Il
5
Il
5
|
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ﬂ? .05 A "Zﬂ
I ( dO) sdluall J g2iall-5 |
L (i0) Aila i) Js2iall-6 J
f |
| * The following table shows the five basic types of clause structure in English: Il
| , . , o |
W Ao sy Axlll 3 (clauses_lbadl) sl et o) 51 Wl Heday JUl) J gasl) H
% Type Structure of VP Examples &
H 1 Vi a.__ | a. We waited. H
ﬂ% b.C b. We sat down. H
3 (Adv) 5
Ue, 2 BE+C a. NP a. He was my friend. H
U‘:, b.Adj | b. He was intelligent. H
U% c. Adv | c. He was in my class. H
U‘a 3 Vt+dO + a.___ | a.I made a mistake. H
b b.C b. | put the key in the lock. L
o (Adv) &
U% 4 Vt +i0 +dO a. (to) | a.lgave him an answer. H
| b. (for) | b. He made me a suit. )l
U% 5 Vt +dO +C a.NP | a.lfound him a bore. H
| . Adj .1 found him boring. ]
| b.Adj | b.1found him bori )l
l [Vil :ds¥ £ sil-1 ]
| |
I clila) gsu > S+ Vil ]
| , |
W Je'S: We < We waited H

AN Jad Vi : waited

geo Gl > S+ Vi+C(Adv) /o U
)

Jel S : We < We sat down i

ao¥ J28 Vi : waited ;

|

Jeldll 5 Jaill dlasa & Ua aiida sy ol Adv : down 5

sl Ll 5> [BE + €] 1S4 £ 5il)-2

S+Be+C(NP) /i ;:o

|

Jel S : He < He was my friend }

453 Jod Be : was ;

il

Jeldll 5 Jaill dlata o Ua Lgidids 5 5 4zaml 350 NP : my friend :

S +Be + C (Adj) /<

Jeld §: He < He was intelligent a

)

L gis Jabd Be : was |

I

|

I
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U Jelil) 5 Jadll dlasa o L itk 5 5 4da Adj : intelligent H
\D\% S+Be +C (Adv) /= H

Jeld §: He < He was in my class

I 4 gi< Jaé Be : was é’°
U AlaSa o L Lgidgda g5 Capl () 0S5 Ll U SO WS 5 5902 9 U 3Le Adv (PP) : in my class H
i deldl 5 Jadll ]
dO ilia Jsmia + Vi sania Jsaie >>> [Vt + dO] 16 p5ill-3
| Glila) gsu > S+Vt+do fi i

Je@ S : | < | made a mistake

(Monotransitive verb — Jsiall (salal (sasia Jad)  (s2a Jad Vit : made
H il Jg2da dO : @ mistake H
Glilal >>> S+ Vt+dO +C (Adv) <
i Jeld S : | < | put the key in the lock 4

(Monotransitive verb — Jsxiall (golal (saxie Jai)  gaaia Jad Vit : put

L Ak Jg2da dO : the key pl
H A o Lin Lgtila g5 il (oS3 el WSO LS 5 )92 9 b 3k Adv (PP) : in the lock H
clilal Lailllla >>> [Vt +0 +d0] a1 ¢ sili-4
H S+Vt+i0 +dO + (to) /i i

Jel& s : | < |gave him an answer

(Ditrnsitive verb — Jsxédl AU (gaxia Jad)  (s22ia Jad Vi :gave :
J

Hla s Jg2da i0 : him |

|

il Jg2da dO : a mistake ;

D (o) plaiiuly AT gy Al d8lua (Sar* A

S SV ala) Jsnia) i of (Saall Ga 4l Jadl aleall delua s2le] (e > | gave an answer to him i
ke sl Jgaiall & e 5 (t0) ‘

S+Vt+i0+dO + (for) - i

|

Jeld S :He < He made me a suit }

(Ditrnsitive verb — Jsxall S (saxia Jad)  (saxia J2d Vi : made |

| aanlliain a <y © |
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Hilga & J9da i0 1 me
il Jg2da dO : a suit
: (for) aladiuly JAT JSdy dlaal) A8 lua Say*

- c.fé }g Y}\ el J gaaall ‘__‘jl_J Qi CSadl (e 23 Jaad dlaall delua sale) (e > He made a suit for me
e Ll Jspidll &5 (e 5 (for)

Al o ging o cama L > (Al + 8l Jsrde +ganie J2d) > [VE+dO +C] 1wl £ 6ill-5

S+Vt+dO+C(NP) /i
Jelds: 1< |found him a bore
(Monotransitive verb — J sidll (salal (sasia Jad) g2 Jad Vit :found
KA Jpda dO : him
Adasa & Lia Widlas 5 NP : a bore

O 4il) ) sSms inalld calliay) o pall inall (o pians 0¥ Alaall g o5 Lt (| found him) J sl LiSay Y*
(8 Lasil) b i ey 5 ol Al ) s allay) al sl Y s 13 g (s & ey pdlua

S+Vt+dO + C (Adj) =
Je@s: < |found him boring
(Monotransitive verb — Js=iall alal (saxie Jad)  gaaia Jad Vit :found
Hia Jpda dO :him
Alasa o U il g5 Adj : boring

¢ As we mentioned at the beginning of the lecture, each of these types can be expanded

with optional elements like adjunct and modifiers.

For example, we can expand the first sentence in Type 1 as follows:
We waited. (Type 1)

We waited in the car. (Type 1 + Adjunct)

A jualic YA (e < alosd of CSaall o ) 531 038 e g 63 S ¢ b pualaall (b L U S5 LS 5
(Y anall 5 ol sill)S

(SIS I g gl (B Y Aleal) e s (Sl (ga [ fie
(Js¥ g5 ) > We waited
ALY 038 3ga g aeall (e il (K1 5 Aleall g i lia > (&l + Y g 5l ) > We waited in the car

¢ Simple sentences have only one clause. They can be expanded even more by combining
them with other clauses as we will see when we discuss compound and complex sentences.

aanlliain a<yi ©



U aeda ) A (e Jaall 038 w53 (Sadll (35 ¢(One clause — i saal 55 5le ) o (5 giad Adagull Jaall* H
I [omnd) Lpansy <l jlad) oy ) VA (e 48 all 5 sakaal) Jaadl A2l W (Saall (e 13) | s AT Gl jlny pany ]
i Jeall e c¥anall 5 el il dlia) Saall (g ¢ (dath Alaradl Jaall 3 duaiie LolS Tond Wali <3 3l <l jlaall) ]
| il 5 A8 5l Q) Ul (€5 S Aaguadl Alaall e 5 e (g0 SIS i o e Ailn) Lyl 5 g ]
i |
‘T ¢ Be careful not to confuse these five types of basic clause structure with the five types of H
\T complex verbal groups that we discussed in Lecture 5. H
I . ; . N ; ]
ﬂ% (Complex —BM‘) 4wadll t‘}dy‘ R E)a\;an [RF- ‘_g DJL,\JJ\ ;LL\S Al 4adll t\}.\\ﬂ OR \}L.\;‘ﬁ y* ‘T‘
ﬂ% * daldl) 5 _palaally > 4ladl) de gaaall H

I made a mistake — We sat down - We waited < (33a)55 ke e (5 5iad) Aap dlaa [JE*

U% | can make a mistake — We can set down - We < (32al53 ke e (5 5ia3) complex - saize dlas H
) can Waite &
U% ¢ Producing “good grammar” is often a question of fitting a verb into the basic type or types H
S appropriate to it. Pl
I g5 Jala ol ) g il Jals Jaill ol Al Jlie W) Gam 3391 cany Wle (s2in 43 s 3a018) Ly Il
| LJadl) A S jaal) |
| I
ﬂ" For example, the verb “tell” can fit into basic type 3, as seen in the first example below; and H
H it can also fit into basic type 4, as seen in the second example below. H
| I
W e.g. 1.He told the truth. (Type 3) H

e.g. 2.He told me the truth. (Type 4)

| Ll el g 5 iU 531 Q) 3 a2 50 LS ¢ ol g ) e candlity 43l ™ tell” Jadll /CSia * )l
L DL G ) 8 1aal s LS ¢ ol ol ) g il e iy |

((Jsmiall salal sania Jai sls " told" Jadll L ) G ¢ 5ill > He told the truth -1 )
Jelbs > He ]

(Monotransitive verb — Jsxiall galal saxie Jed)  gaia Jad Vit > told ’

Hila Js2da dO > the truth =

Bl

. . . I

Ditrnsitive — Jsriall Sl gaaia Jad ela " told" J=dll s ) &l ) & 5l > He told me the truth -2 :
( verb +

Bl

U s > He J

|

Bl

(Ditrnsitive verb — Jsadall i gaaie (i) gazia J2b VE > told ]

Sl & Jg2da O > me i

il Jgda dO > the truth -

| aanlliain a <y © |
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On the other hand, the verb “explain” can only fit into basic type 3, but not basic type 4. For
example:

e.g. 1. He explained the answer. (Type 3)

e.g. 2.INCORRECT: He explained me the answer. (Type 4 is not possible with the verb
“explain”)

() g sl ae ity ¥ S5 ¢ ) CE & il aa anlity 38 "explain” Jadll o AT 4als g
sl d:‘-‘“ é‘

ki Ul ¢ 5l > He explained the answer

Jolds > He

(Monotransitive verb — Jsiall (galal saxic Jad)  gaala Jad Vit > explained
il J928a dO > the answer

Odsaie 330 o Sy Y "explained” Jxdll 0¥ > He explained me the answer :J 5 bl (e

Exercise.

Which of the underlined elements is NOT a necessary element of the following clauses? If all
elements are necessary, then choose “d”.

a. (1) b. (2) c. (3) d. all elements are necessary

1. He was in my home yesterday.

(1) (2) (3)
(Jad) Adaall & (5 )5 00 > was
c. (3): 5o <lsall 1)
\——=) Bl & 555 02> inmy home

g sl s 5 ok > yesterday

2. Maha is agood student.

(1 (@ (3)

(subject -Ixise) iaall i (5 )5 52 > Maha
d. all elements are necessary: s <l 13)
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i (Jod) Aol g > s |
\D\% (AeSe & s 4ays le) daall i 5,5 02 > a good student H

3. The angry man waited impatiently.

W @ 6
H ("mdn" ‘el diza =) -43,.4) LﬁJL:\’:\';\ > angry H
l a. (1)1 s sall 1) ]
I (subject -Jeld) dlaall & (5 55 02 > man |
| L |
W (J8) Adeall 3 (555 02 > waited H
[L |
l ° ]
U° Exercise :
| : |
f [
U |
| Identify the basic clause structure type for each of the following simple sentences. |
| |
W a.BE+C b. Vt+ dO c. Vt +i0 +dO d. Vt +dO +C H
| |
I |
5 1. Faisal wrote a book. a
| Je@s > Faisal )
u H
- b. Vt+ dO: s <l sall 13 . : : . . s
| > PJ tragsitive verb—J sxiall galal (gaaia J=8) gaxia Ja2 Vt > wrote |
| |
I il Jg2da dO > a book i
" A
H"e 2. Heis a good writer. :
k Pl
. Jols > He :
L a.BE+C: s sl 1 . . A
| 4355S (a8 V (BE) > is )
Il |
k . X Pl
I Alasa & gdda C (Ad)) > a good writer |
I il
e J
ﬂ" 3. He gave me the book. }
" 4
- Jls > He -
b Pl
i . £ ot - 2 - a |
: C.VE+0 +d0 58 el 3y ssitie verb — Jpsdall (i axle Jod) - gda Job Vit > gave :
b Pl
| Hila & J92da i0 > me )
Il |
k . ) Pl
| ilsa J g2 dO > the book |
I il
b |
W 4. | found the book interesting. }
i i
5 L
Il |
b J
a:
ﬂo aanlliaina.<8 © oﬂ



| Jelés > | I
”0 | ; |
T *t_ rarsitive verb—Jsaiall galal (gaxis Jad)  (gaadia J28 VE > found ‘
% d. Vt +d0 +C: s @l gall 1Y) 7 = |
I il Jg2ia dO > the book B
i Alisa A 9 4da C (Adj) > interesting Jl
H 5.The book is in my library. H
: |
| Jelés > The book ]
L a. BE+C: s lsall 1)) i ) I
I A4S 28 V (BE) > is i

AlaSa A gl ol Ja € (Adv) > in my library

I Adv (P.P) ]

Variations of Basic Clause Structure
: Types i

W’ Variations of Basic Clause Structure Types: H
W’ Common Variations of Basic Clause Structure Types.. H
Qz sidaad) o 3 lall dpulud) s L) £) 63 il il U

LAl g8 lell Laalad) oL £ o3 Aadl&l) il yasl)

1. In type 1, “there” can be used as an introductory subject.
e.g. Three exceptions exist. (Type 1) J
There are three exceptions. (Variation of type 1 using introductory “there”) |

*The pattern in this example is: There +BE + Subject ’

adiie 1S 223 38 "there" AalS JY) g sl -1
Three exceptions exist /J%s o‘

Jeléd -S » Three exceptions
(S + Vi) ds¥ g 5 {

Vi > exist Pl
|
|

There are three exceptions |

il

|

( i i — introductory subject) 355 J5Y! ¢ sl S lxife — introductory subject) > There ;
" There" A alasiuly ]

|

|

I
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H 458 J=d V (BE) > are H
| s [
‘T late subject (S) sali Ixise > three exceptions H
D‘ . (1] (1} & K . ‘D
. There +BE + Subject : & "@beall™ JUial) 13gd Jaaili* 5’"
Ly 2. “There” can also be used as an introductory subject in a variation of type 2. il
| e.g. Some books are on the shelf. (Type 2) )
I I
[ There are some books on the shelf. (Variation of type 2 using introductory “there”) ]
I _ d ‘ . . ]
; S gl il aasie it 2240lE 38 "There"iulS-2 I
W’ Some books are on the shelf /Jts H

dJeld -S > Some books

(S + BE + C) A ¢ 53 458 4V (BE) > are
K4 & s <askh sl Js € (Adv) > on the shelf
I Adv (P.P) ]
There are some books on the shelf
(i 133 — introductory subject) 2sa s AU & sl ) '3 — introductory subject) > There
" There" 4alS alaaiuly 4518 J=8 V (BE) > are
H late subject (S) salis xis > some books H
AliSa a5yl Ja € (Adv) > on the shelf
i |
Adv (P.P) i

3. Type 2c, can be reversed when the adverb is “here’ or “there”. i

e.g. Mohammed is here. (Type 2c)
Here is Mohammed. (Variation of type 2c) J
® There are other variations that we will not discuss here. |

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

}

| "herd Gaalkll aal s Cajlall g Jl 13 )5S Lexie Jall S Jeldll 5 Jeld) glsa JWl Jlagil (Saal (1o .
| . "there" sl I
1
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

Mohammed is here /J% “
l3is -S > Mohammed
Adv s» C s O 0Saall (e 5 (S + BE + C) Sl ¢ il LS Jed V (BE) > s i

& s<isb ol Js C (Adv) > here |
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I Here is Mohammed ]
| ‘ |
‘T ( ~28k £ — introductory subject) > Here H
H (2 Ixie — introductory subject) 3sa 5 S g sl ) L v (BE) > is H
U% " Here" 4alS alasiuly i H
l late qubject (S) _Alis Ixiw > Mohammed ]

L ecturell

ﬂ% Coordination H
ﬂ : [
W’ Coordination: ilas ) H
er In the previous lecture, we discussed the five basic types of clause structure. H

Each part of the structure of a clause can be duplicated (doubled) or added to by )

Coordination. For example, the subject is duplicated in the following sentence: o
Mohammed and | are good friends. ]

The two parts of the subject in the previous sentence are joined by the conjunction “and”. °}

Conjunctions are words like “and,” “or,” and “but” which we use to connect grammatical 4
units/elements in a sentence. ‘|

¢ If we combine more than two parts, we usually separate the parts by commas, using the *

e.g. Mohammed, Ahmed and | are good friends.
Aleall gl 5 L) el dsedll L) £ 59 e Lans A8 5 jualadl) 3% |
Ao Alea) aail 4ilinh o 5<5 o o (Caelial) adelind o) 5S5 o Saall (o Aleal) 5 5 jlall el (e 5 Ja JS* i

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

1

i conjunction to join the last two parts only. |
|

|

|

|

|

|

|

|

|

|

1 . , ;
‘ Ao Alea) aail ALaY) 5 dieliad) o Ll 8 ¥ anall 5 ol il Jla Ll oo 2 (lliall) (ganail) 13) -
‘ ’ ’

|
|
|
|
|
|
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I S ¢ Jelll dieliae qolaiu 38 /Slia- |
Mohammed and | are good friends
(and) Gabae i ya daul 5 Uy’ il Alaall 3 Sladl) 38
Aleal) il pualie 5 4 ail) Clas gl Loy )l Lewadias ) 5 and, but, or e cakall Cag a
H (1 -Mohammed) i ¢l s Lilay y i) JEall 8- H
s oo sl aY) Jeail (Alalall) aadiu ol e e ST Ty i of L i 13) (S0
°‘3> i e AT day j Cilaall Cija- “
Mohammed, Ahmed and | are good friends /J%s
U (Alali)s Laalilid (3 3 - H
(e Cisa) o Laalihy ol s AT

_(and) sA Calaell -

LL Types of conjunctions: ]

1. Coordinating Conjunctions (coordinators) )
°f
|

These are single-word conjunction, including: “and,” “but” and “or.” b

e.g. | want Ahmed and Saleh to come see me.
e.g. | want Ahmed or Saleh to come see me. il

e.g. | want Ahmed but not Saleh to come see me. |

dbal) Qg &\y\ }

(Osiniall) o e 38 >> 1 (Ahpudill) dludal) Cibaal) Cig a1 i

.

) a5 83 jite S T3] (52_jiie) B2l 5 AalS S5 28 Calaall Cig ja i
and, but, or ;

| want Ahmed and Saleh to come see me /s |

aanlliaiaa. <y © H
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H Les Lt 3 Ahmed 5 Saleh 2f 3l Walixe Uia > and H
| |
‘T | want Ahmed or Saleh to come see me H
°\ ‘ oo \°
- (Legie 2a) 5) Jaéd Ahmed ) Saleh 2} 35 Wliaa Ua > or s
I i
ks | want Ahmed but not Saleh to come see me H
| .Saleh L )i 5 Ahmed Caxgind il lalins Ui > but )
! |
[ 2. Correlative Coordinating Conjunctions ]
| |
W These are pairs of words, including: “both... and...,” “either... or...,” neither... nor...,” “not H
W’ only... but also...” H
"\ \"
" e.g. | want both Ahmed and Saleh to come see me. S
- e.g. | want either Ahmed or Saleh to come see me. B
U% e.g.| want neither Ahmed nor Saleh to come see me. H
I |
I e.g. | want not only Ahmed but also Saleh to come see me. ||
I ; |
ﬂ% : (Aday) siall) A Dial) (Agfpaiill) ABeuial) Ciland) iy s -2 H

t ) et ¢ (lalSl e )5 3) A5 ) ClalS e B jle o s

U% both... and..., H
I |
I either... or..., J
| J
ﬂ" neither... nor..., H

not only... but also... .

- pein Jolal) aae 5 LK o 3O Adaa S g /] ./

I want both Ahmed and Saleh to come see me J

(=B > and &« either « «ila > and @« both D}

| want either Ahmed or Saleh to come see me ’

(sbla > or &= both ¢ <ila > or g« either -

| want neither Ahmed nor Saleh to come see me
«ila > nor g« neither .

| want not only Ahmed but also Saleh to come see me |
—ila > but also & only \

3. Subordinating Conjunctions (subordinators)

| aanlliain a <y © |
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F%fcoi:::::::::::::::::o:::joofj:j:j:j:j:j:j:j:j:j:j:j:j7777
L A A agally 4ga 453

|

|

H 4, Correlative Subordinating Conjunctions

|

‘T We will talk more about the last two types when we discuss Subordination in Lectures 12

‘T’ and 13.

L (Aaadal)) daalll) Cikal) Cig ja-3

) 1351208 palaall (B 00 KB 215 ) pisall (Al Aaaal) Cidaal) g j2-4

|

| .

[ Exercise.

I

\ . S

g Choose the type of conjunction in the sentences below:

S a. Coordinating Conjunction

U% b. Correlative Coordinating Conjunction

|

H: 1. My brother and sister wer < a—Coordinating Conjunction s& Jall
|

W 2. They are both polite and f <+—— P Correlative Coordinating Conjunction s» Jall
= 3. I not only like swimming b <+——b-Correlative Coordinating Conjunction s Jall
i 4. | like swimming but not di < a. Coordinating Conjunction s Jall
U% We can compound/coordinate any level of constituents (grammatical units) - words, phrases

| and clauses.

[ Cdan 5 e ¢S (4 sm lan g o) lisSa (a5 st (ol et o S i LS
i .( constituents — i sSall) amsar (daall 5 @l jlall 5 Sl exi 28
e Coordination of Words

Coordination can link two or more words of the same word class as in the following

examples:
Nouns:
e.g. Football and basketball are my favorite sports.
Adjectives:
e.g. My friend Khaled is funny and intelligent.
Adverbs:
e.g. We must finish our work both quickly and efficiently.
rilalsl) | Ganadia

- IS ISl 3l e ST (alS gy i il
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H padl-1 |
| . |
‘T Football and basketball are my favorite sports /J%s H
% o > football s
T _(and) Basiall Calaxll Ca oy jlawY) Liaks ‘
L bdsketball ]
| |
I Hia-2 |
| |
I My friend Khaled is funny and intelligent /J% I
! |
i . |
" 4da > funny g
W’ (and) @uiall Calaall Cojay lidall Wals 4 H
ﬂo intelligent H
L s sl B3 ]
| )
H: We must finish our work both quickly and efficiently /J% ]
| |
W Jds >quickly H
i (both - and) » 56 G2is ke Gy Jd s ] il
ﬂ% efficiently H
5 e Coordination of Phrases Pl
I wo or more phrases of the same type can also be linked together through coordination as I
I T h f th t Iso be linked together through coordinati ]
U% in the following examples: H
! |
I Noun Phrases |
| |
W e.g. The old man and the young boy crossed the street. H
i’ i

Verb Phrases: :

e.g. Many of the grammatical terms must be studied and will come in the exam.
Adjective phrases: J

e.g. The topics are very interesting and really useful. |

e
I
e
I
e
I
e
I
e
I
e
I
e
ﬂo
ﬂo" Adverbials: I
i’ b
H“’ e.g. You can wash your clothes by hand or in the washing machine :
IL |
. bl Gamaie ]
i |
IL |
Uo é&&c@\u}}d%wm&ﬂ\uwﬂwﬂiju,)f\)l.\&:.k.\‘):_\m”""Laginllw J Jo
i |
IL ) ) |
I thgan 5 -1 ;
i’ :
H% The old man and the young boy crossed the street /J% :
L oL
I i - |
H% (old) (! L8 Jaxs > The :
H% :L\A-ul\ B‘)L:.c é’:o
L :
| J
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H (The old man) 3_k=ll Gl Y > old H
(old) il (s323 Jaze > man
L} (<alac o )n) oy, 315l > and B
(yofing ) w8 Jase > the
U et boy) &_ball Ll Jll > young H
(youhg) iUl (s Jaae > boy
. a5 -2 :

Many of the grammatical terms must be studied and will come in the exam /Jt«

ﬂ% (must be studied) < 3ina d3had dlay Ua Lyal* H

Type 1 > Modal +Infinitive > must be

L, Modal > must B
U‘:, Infinitive > be H
i J
| Type 4 > BE +Past Participle > be studied i
| I

ﬂ% BE > be H

Past Participle > studied

(calae i ja) by slal > and :

(will come) < s_A) 3aina Aded dlay Ua Laagl Ligat* ;

|

" passive voice" Type 1 > Modal +Infinitive > will come ;
Modal > will i

Infinitive > come

(and) s& s calae Coyay Laaliday ) (yidine Giilad Gfic sena Ll Lia 13) * J
|

1Adia g b le-3 |

i

|

The topics are very interesting and really useful /JGa i

:‘o

P !

(very interesting) : (& (J5¥) 4bagll 5 Lali* i

"interedting' 44all 8 Jaa a5 )k ol Js > very :

|

a‘:‘“} 3‘)1—,\9 .. . . :‘o
44 > interesting )

|

|

i

|
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R e e e e e e e e e e e e T S e e e e T e e
I AR dgally dge 40 ]
| B J

U (Cibae i ja) bay, 5130 > and H

U (really useful) : & 430G Lbuagll 5 jLali H
% o "usgful’ daall 18 Jaee a5 ok ol Ja > really 5
- Ahays e a
L daa > yseful ]
H (and) sp s cilae (o jay Laalihay ) (pidins Gitliea s oo sl Loal La 13 * H
U 1Ak 3 e -3 H
H You can wash your clothes by hand or in the washing machine /J% H
Ug, (by hand) @ A 9% 4Rl 3 Lali* H
” A~ <> hy H

% a3 jle s
SO 5 )l o)l . .
I ? I 4seul 35l > hand I

ﬂ% (ke @ n) Ly 3l > or H
W’ (in the washing machine) : & 4Gl 48 Jal) 3 jLal* H

A a>in
BYSCENISEN P

Uao daau) 3 e > the washing machine H

H Sliske Laa 13} s e osSs psmall 5 Jlall s e of TELA L SILS 5 555ma 5 s Lle LaadIS ¥ H
I (0r) sp5 ik Gy Laalilay ) (lisies (i ks |

aanlliaiaa. <y © H
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gj; Compound Sentences 1

LL, ZERIN I
H |
| * Coordination of Clauses J|
H |
| A compound sentence has two or more clauses which are linked by a coordinator. 1l
| . ]
A al) Jand)
) ) (i s
I a4 e s 1055 38 Alaall o Aol 5y a0l oa Ayl B LS5 LS ]
| )
I acabaall Gigya Aand) gy medayy 2 ST S5f 5 388 1 o A el Aleal) I
| |
ﬂ" ¢ All of the clauses in compound sentences are coordinate. In other words, they are of equal H
W’ rank. None of them are dependent on (part of) another clause. They are all independent H
i clauses. ]
ﬂ% (i agraand DG ) (G 5 Lﬁj Os 13 ng\ Adwia A A all Janll L "clauses -Jaall— <l jaall" Js* H
5 .(equal rank-2; sbuia agisihe) 48 5all Jaall 8 il il paen §5 AT B jlas =
| (oA 58 e s 5a Gad) AT B e Alaie) (55 <l o3 (pe s Y ¥ ]
| |
I (AT s o e V) (5 e AR Jan (555 Wil (ol) Aline Cl 88 () 45 ) 301 o3a gpen® |

The following are examples of compound sentences:
148 pal) Jaal) oo Alliaf cp B e Al J

e.g. 1. Everyone was in the room and the doors had been closed. |

b

I

b

I

b

I

b

I

L N . :
ﬂ" Ss¥) 3 2 > Everyone was in the room |
r‘o D"‘o
i e aat . s |
- 44l 5 3l > the doors had been closed =
L ]
I il
’ (and) a5 "cilae it Lay sl G ) day ) o5 -
l B
U% e.g. 2. Everyone was in the room, the doors had been closed and latecomers had to wait }
Il . |
L outside. -
Il |
b Jl
| Is¥) 58l > Everyone was in the room J
Il |
\L e e o -
I 44Ul 5_al > the doors had been closed |
i A
b WA . e . . |
i 4 3_all > |atecomers had to wait outside “
L )
Il |
L )
Il |
L )
Il |
L )
4,
Il aenlliain aSy © OH
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(ilali)

e.g. 3. Some students didn’t do the homework and the teacher knew, but he didn’t say
anything.

s¥1 58l > Some students didn’t do the homework
48 5,8l > the teacher knew
234l ¢ 8l > he didn’t say anything

Al 5 18 ja Lilay 5 (Aliali) s 48 gsa (but) (oo 5 "alae o " Jay ) slaly AN g A0l 5l Loy a5
38l o 58 ) (but) cibasdl i s U8 Alals 5 g g Lin 1aa3U> (and) 25 "calae Coja" Ly ) blaly Lo
il U ALealdll 5 ga g8 atiie Al 5 5V o a8l 5 dudie Chels Lia A5G

e.g. 4. Either he didn’t bring the book, or someone took it from him.
¥ 58l > he didn’t bring the book
400l 5_all > someone took it from him
O Lenas Ui ALalill 3 g g ¢ Alualdy 48 gusa (OF) (A s "ibe i ja" oy slaly 4ulll 5V 5l oy o3¢
Lia Alealdl) 3sm g canns o) @il ) L ila Ll L ALGalall 2 gm "o G 33 1" 4 LAY T Leg! (pileal)
causes Asill 5 cundl 8 LAl I el 4gad 13 5 = Y1 dleall Loy 3 " Either” 4alS 25a 5 5
(el 4 5 "and effects-
e.g. 5. I'm selling my car and (I’'m) buying a new one.
¥ 58l > ’'m selling my car
O 8l O Lo ol (Sl (e = 408N 38l > (1’'m) buying a new one
(and) o5 "ibe Caa" Layy 3laly oy day ) (¢
e.g. 6. Mohammed is going on a trip for a few days, but (he) will be back before Saturday.
¥ 5,58l > Mohammed is going on a trip for a few days
Ol (g Lo Cada (Sl (e = 2301 3 88l > (he) will be back before Saturday
. (but) a5 "k ot Layy 3l 8 ) Ly
e.g. 7. He may have received the letter but (he may have) forgotten to reply.
¥ 5,8l > He may have received the letter
Ol G Lo i oSl (e = 490 5 8l > (he may have) forgotten to reply

(but)‘_gﬁj"uhMJ)A"LJJB\JLU.QB‘)SSI\.L\JJ?S*
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H ¢ As seen in examples 5, 6 and 7, when the subjects of the two clauses refer to the same H
H person or thing, the second subject can be deleted. We can also delete the second verbal H
| group if it is the same. ]
| Il
I Jaill 5 padill (et e o) gy US 13 4000 5 jaall (ha agddad of (Saall e ol jaall o Jadl) 5 Jelall ) i 13)* I
U LOotilaad) DSE il H
| C L ) ; |
i O ) Gaa il e @Al ) gl (o) Balal) oaa 1 5aa) M) Aalhall e Aail* I
wjle g0 VB 5448, Jlia) 5,aY) ALY p2a 8 Alaldll 3 5
I (zladll 5 38l ST LA aa oS3 sen oST o SLE W oo 5 oo 50 JS I

Exercise.

H Decide whether the following sentences are: H
a. simple sentences b. compound sentences
1. My neighbor and his family are going on a trip.
o? (they) RulSs JSS Jeldl) Jaciad (&adl (o o:o
a5 Jeli ,i=8 "they" = " My neighbor and his family" of !
H a5 =8 > going H
they are going on a trip : Js&#
g% a. simple sentences: O3S @l salld as) g Jad 5 aal g Jeli*
il

2. My neighbor is going on a trip but his family are not going with him. }

¥ 58l > My neighbor is going on a trip |

48 5,88l > his family are not going with him 1

Jelé his family &l = Jeld My neighbor ; Ua Jaadt }
é"o

2elise J28 gre = 2l J=é s Pl

o

J=& not going = J=& going |

" but" s (<ale Cia) day ) slaly likag ye (5 58 Uil Ui 13 Jud e ST 5 Jeli e ST J

b. compound sentences : s <l all ¢ sSud J
|
|

3. Either | lost my wallet or someone stole it. )

il

< .. .

Ss¥) 58 > | lost my wallet i

3"0

|

| aanlliaiaa. <y © oﬂ



4y 5,8l > someone stole it
Jdeli someone Jiliadly = Jeld | ; Ly sl
J=d stole = J=é Lost

"o sa s (akae o) oy Blaly (lilad e o 5 Ll Lia 1) b e ST 5 Jeld e SiSI*
b. compound sentences : s <l sall () Ko

4. The wallet was either lost or stolen.
Jeld > The wallet
Cnl=é > stolen s lost
a. simple sentences: s Jall ¢ Sud Jad o ST 5 aa) 5 Jeld Ll Ua 1)

ool Adnsnd) Alaad) Ll (5 gl (S5 (g0 SST 5 Jeld e ST L 2a 0 2 3V A pall Alaad) o) HAuadlal) **
Alen yiing Lin > a0 g Jad agaany 0819 Jold (pa ST aie ()5S Gl i) skl 138 Jeany () ol (4
La > Jad (e JAS) Al 098 aal g Jeld i "they!' o8 5 ean) s 4alS il Jeli (e ST aan O Sadll (0 5 0aal
(:%L.\uua.l;u;ﬂa;.\\).\.\/;im.\\

Exercise :

Decide whether the subject in the second clause is:

a. Optional (can be deleted) (W Sa) 48 b, Obligatory (cannot be deleted) ¥) 4l 3l
(Ledds (S

1. My neighbor is going on a trip and his family are going with him too.
Jelé > My neighbor
A1 Jelé > his family
b. Obligatory (cannot be deleted): ss ol sall 13) ¢ Laaaal cada S0 ¥ 5 il

2. My neighbor is going on a trip and he will take his family with him.

Jelé > My neighbor
"(My neighbor) Jeldll Luii e 352y jpea " Jeld > he
a. Optional (can be deleted): s < sall 131 ¢ Lavaal Cada (e 5 ledliiia

3. Sara will study hard for the exam, and she will try to get high grades.
Jdeld > Sara
"(Sara) JelWll (éi e 2say jea " Jeld > she
a. Optional (can be deleted): s < sall 131 ¢ Lavaal Cada (e 5 el

4. Sara will study hard for the exam, and Maha will do the same.

aanlliain a<yi ©
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Jdeld > Sara
Al delé > Maha

b. Obligatory (cannot be deleted):sa ol sall 13) ¢ Laaaal cada oS0 ¥ 5 flilia

Lecture 12
Subordination Gl

Subordination:

In Lecture 1 we said that sentences can be divided into simple, compound and complex
sentences. We discussed simple sentences in detail in previous lectures, especially Lecture

10, and compound sentences in Lecture 11. In this lecture, we will discuss complex

sentences.

A complex sentence has two or more clauses joined by a subordinating conjunction. At least
one of the clauses is subordinate to a main clause.

A main clause (also known as an independent clause) is a clause that can stand alone as a
complete sentence.

A subordinate clause (also known as a dependent clause) is a clause that cannot stand alone

asa complete sentence.
sl Jand)
Bdina Jan 5 S pe dea idagy dan 1) Lo Sy Jaall o Wl 3531 5 pualadll 3

2 S el Jaal \uﬁu,‘s)ﬁu\s)@u\gu,&s ALl @ palaall A Juadilly Aasal) Joaal) LG8
Bdiaall Jaall 3 palaall ol 4 il g 6 e dualal) 5 jualaal)

(one clause — 33s) 53 58) e (g gias sddaseall Adaal)

calae Caspn DA (e agaiany (phasi e (two clauses or more — JST sl oy i) e (5 siad 148 pal) Adand)
(48535) Ayt

Cibe Cig pa JA (e agaiary (hasi e (two clauses or more — ST sl (i ji) e (s gins 13 38nal) Alagd)

3

Ly ) (clause) 3_Adl) s alaal) g g
a5 Y (one clause — aa 53 534) dawa simple
Coordinating Conjunctions :JY& (s two clauses or — JsiSI O _y8) compound

aanlliain a<yi ©



Correlative Coordinating Conjunctions S (more A8 e
A8t 1 Calae g_'q‘j‘);—é\_:s.:m.::“ 1 Cale g_'oj‘);)
(4 Nie

Subordinating Conjunctions :J%& ¢ | two clauses or — S sl (i 58) sa3xa complex

Correlative Subordinating sl (more

Conjunctions
4 ilae (o pa — 4 Cilac (g a)
(4 Nie

B8N e e 0585 of l) bl 558 e dgalaie) (588 o gl adeg (585 @l il sda gas) JBYI e
()

i SV 55l 4 5 (independent clause - i) 3 idll) Layl o35 1(main clause - &sulud) 3 jaiN)*
Alitae Alea Leois e

sl a5 (dependent clause - &slaic Y1 3 all) Laad o5 1(subordinate clause - 4l 3 adll)*
Aliiuen AleaS Lpasdi e aaiad ¥ )

¢ A clause can be subordinate by being able to do one of the following:

A LY (san) Jae aind o A (e (i) o e o 5l St
1. replace an NP in the main clause
e.g.  Everyone could see it.

Everyone could see (that) he was frightened.

The subordinate clause “that he was frightened” is a noun clause. It functions as the object
of the verb “see”.

2 Aoala) 3R A dpan) 3 jlad Jladial-1
Everyone could see it /J%
. (see) Jxill Jgrin ga 5 dnand 3 e a5 yen >t
Alsisal) Al 58l e dldie) L dulud 5538 > ((that) he was frightened) = < Wlilasu
dadll > see
i e adiad Aldus 2ea > Everyone could see
((se€) Jaill Jgaia o Lia Lgtiida g5 Gaand Alan 8 " that he was frightened" 4ill dleall 13 *
2. modify an NP in the main clause
e.g. | often see my old school friends.

| often see friends who were at school with me.

aanlliain a<yi ©



H The subordinate clause “who were at school with me” is called a relative clause. It functions H
| as a modifier of the NP “friends”. |
I . . |
I D Agulead) BAAN 8 dgan) B laad) Jyaad-2 Il

| often see my old school friends /Jt«

i3 . (my old school friends) 4xdll & juall Gl ) 58 5 daasd 3 e > friends .
| " friends” < o+l 408 C¥axs agaren > my + old + school )|
| )
I (Lgia Yy (clause —b ) gua s s Al ¥ ane COUE 638 dladind (Sl a* ]
I . " friends” U<l Jil (subordinate clause - &g 5 i) aladiul (Sasll (5e 13) I
| ‘ )
ﬂ" 58l e dnlaic) o4 5 4lul 3,8 > (who were at school with me) = “my old school" < Waiul* H
i Al Lulud) i
! ? |
| |
f [
- .(main clause - &bl 3 i) a5 Aiiue Ales & > (I often see friends) 13)* B
| (subordinate clause) 4lic| ke & > (who were at school with me) )
| )
I Mriendd! ool N O3 5 Al 5 sl adas Ui dalaic V) dleal) ]
| : ; : |
ﬂ" Al Aaall o) A gea sal) Aaally e 33 " who were at school with me" 4=l alaall 13* H
| M friends” dsan¥) 3 jlall Jiaed U Lgidid ]
I |
W 3. replace an adverbial in the main clause H
% e.g. I met Ahmed twenty years ago. &
H | met Ahmed when | was at school. }

The subordinate clause “when | was at school” is an adverbial clause of time. It functions as |
an adjunct in the main clause “I met Ahmed.” J

s Al 3 AR A gl Jladial-3 I
I met Ahmed twenty years ago /Jis “

Ol oo b > twenty years ago

4l 3 ke > (when | was at school) = < slilagi -
|
|

et (S by L) A ]

il

|

I met" Al deall o5 Ua itk g5 gle 3l 0o 4 )k e 8 " when | was at school" 4l dleal) Il

"Ahmed Il

il

~o0a0 £ ~o@o0 £ ~oa0 & ‘

) 4 Jaiuall g ool 4 Jaical) A g3 g Jadiiaal) Jand) A

N N s - - T " AL - H 4 % X :

"S(r J2all J gnda a)sﬂ\ GX& ‘5.31.6.@\-4.,}4.‘4:\ 5% | that he was " daanl 3 jle> it | Aeu) o)\_.ud\ Jlasia i
H% " Everyone could see" d&iudl | frightened see it Alex (e Al 6l A :
| .
Il |
| .
| J
‘T aanlliain a<yi © oﬂ
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e bl Jaee Al e galaie)- A des | who were at deul 3 ke >my old school | Ay 3 bl Jlagiul
H " friends" " | often see friends"4l&iual | school with me | my old school friends :dles (3 ) 5 _all
L sl gl | e galadis)-ole )l e 48 )k Ales | when | was at <aLk> twenty years ago | & <okl Jlaia)
"I 2t Ahmed" " | met Ahmed"dléiudl 3 &l | school Aaly) 5l

A subordinate clause is usually introduced by one of the following:

1. a subordinating conjunction, when or that

e.g.

2. arelative pronoun, who, which, whose

e.g.
SN S LY gaa) A (e a3 Bale dgalaic Y 3 jadl*
that s when :&ualaiey) cilall Gig a -1
whose sl which sl who (8 g gall o) Atudl) jiladal) -2
Compare:
1. a. He was frightened. (Independent Clause)
1. b. that he was frightened (Subordinate/Dependent Clause)
2. a. | was at school. (Independent Clause)

2. b. when | was at school (Subordinate/Dependent Clause)

Examples “1.a” and “2.a” are independent clauses. They are complete sentences by

themselves.

Examples “1.b” and “2.b” are subordinate clauses. They are not complete sentences on their

own. A main clause must be added to “1.b” and “2.b” if we want to make a

complete sentence from them.

45 8a
(PP (SCalr)s_adl) | JUial) a8
. 44l dlshe dlea- | He was frightened 1.a.

(‘Us.u.u 3)35)_
Al e dplaic) Aaa- | that he was 1.b.

(Rlie) 2 8)- | frightened

A Al ot 5 Lo it lad 5 ) 2l
. 44l Aldie Aea- | | was at school 2.a

(‘Us.u.u 3)35)_
ALl e dplaic) dea- | when | was at school 2. b.

(e 5 )

Al Aes el g Lgale daiat) Al 3588 ) gl

Exercise:
Decide whether the underlined clause is:

a.dependent b. independent

aanlliain a<yi ©



H 1. It was obvious to everyone that he wanted to leave. H
i L . |
i 5 "that he wanted to leave":d s& o)) aakini ¥ "that" 4alS 25 5 a3l > that he wanted to leave Il
H b. independent: s& lsall ¢dulaie) dlea oo 13) Ll 5080 e dlaa eualis LY alaall (& H
| ]
* 2. He wanted to leave and this was obvious to everyone. o
l 5 "He wanted to leave":ds& o) aakin (Aliiue el ) dulaic) e dlaa 228 > He wanted to leave ]

a. dependent: s& o) sall 13} €4ali 5 500 Al eanains g3 Alaall g

Ue, 3. My friends came to visit me when | was in Dammam. H
! |
| 5" when | was in Dammam":Js& o} gkisi ¥ "when" e 3 s 5 1aa35 > when | was in Dammam )
| b. independent; s lsall 5 tdualdic) dlaa & 13) Zalls 5 5ae e Alen maain LY Alaall g5 )
! |
! |
LL ]
H° 4. My friends came to visit me, but | was in Dammam. OH

¢ 5"l was in Dammam™:J & Of aadaivs (Usive L3l 51) dnlaie) e dea o3 > | was in Dammam
W a. dependent: s il TA\ ¢aali 5 B e Alan prualin Y dlaall H

Types of Subordinate Clauses :

1. Noun Clauses
H 2. Relative Clauses H
3. Adverbial Clauses
4. Other (Conditional Clauses, Result Clauses, Purpose Clauses... etc.)
H ; AalaieY) Jaal) g) gl i
\

Aen¥! Jaall-1 ]

U gomsall 5l Al Jaall-2 °}

Ayl Jaall-3 -

‘)

3 : L i ‘|

igb il Jaall-Conditional Clauses < s_al-4 :

‘)

datiind) o 423l Jaall-Result Clauses ]
|

|

4 &) Jeall-Comparison clause J
dakidl Jaall -Reason clause 4

We will take a look at each of these types in the following sections starting with noun
clauses.

I
[l

I

[l

I

[l

I

[l

I

[l

Il

[l

Il

[l

[l

[l

I

[l

I

I

H ddm all ol d8algl) Jeall-Purpose Clauses I
I

I

[l

I

[l

I

[l

I

[l

I

[l

Il

I

H e daall e dy ) asdl) g ) 51 o3 (ga JS e 8yl il |
[l 9!:
Il

[l

I

|

‘o aanlliain a <y © |
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AR gl dse 483 ]
_ f
[

Noun Clauses ]

[

Noun Clauses : |
|

We can divide noun clauses into that-clauses and wh-clauses. A that-clause begins with H
“that” and a wh-clause begins with a wh-question word, e.g. what, who. H
LoanY) Aleal) I

|

v 1

"that 4! Jea" that-clause ALVL Aald > wh ) Jdea" wh-clau: H
What-Who /Jis (wh- question)d) <l ]

B
o‘
o

(that) = las

A that-clause can have four of the functions of the NP. It can be:
:That ) Jea -
(0S5 A8 ¢ NP Ay 5 lall (e il g 4 8 (S5 O (Saall e
1. Subject of a Verb in another clause
e.g. That the driver could not control his car is obvious.
(=1t is obvious.)
Note: “That” is obligatory in this sentence. We cannot delete it.
t s A Aaa b Jaill faia i Jeldf1
That the driver could not control his car is obvious /J%e
It is obvious ="It" ezl Ldlasinl aplaius 5 ¢ Jeld > That the driver could not control his car
dad > js
4l > obvious
Jeld Sels " It is obvious"iles A (It) dals**
. Ledda WiCay ¥ dlaall A ((obligatory— 4l 3l) < (That) 4alS La- 1adk sl
. (That) 4 ;52 (the driver could not control his car is obvious) :J# gk Y*
2. Object of a Verb in another clause
e.g. Everyone could see (that) he was frightened. (=Everyone could see it.)
Note: “That” is optional in this sentence. We can delete it.
P s A A B Jaill Jg2da/2
Everyone could see (that) he was frightened /J%

Jeld > Everyone

aanlliain a<yi ©
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2elue J=é Modal > could
d=d > see

Everyone could = (it) _xexall Allagind Sadll (e 5 ¢"see" J=dll J52ia > (that) he was frightened
see it

Ssee" Jadll Jsada cela " Everyone could see it" das B (it) AalS**
Ledda i cdlaall 4 4 Lia) “That” 4alS Ua- ;4 sale®
Everyone could see he was frightened < zait dleall (e Ledia kv
3. Complement of Subject +BE
e.g. The truth is (that) he was very shy. (= The truth is this.)
Note: “That” is optional in this sentence. We can delete it.
rA ) Jad o+ faiaall o) Jolill Alasa/3
The truth is (that) he was very shy /J%
Ixis > The truth
Ll Jzd > s

The truth =(thi§ s LY anls adlain) (Saall ey ¢ &35S0 Jadl 5 Ixiall 4lea > (that) he was very shy
is this

Lgdda LSy dleall 3 4y JLial < (that) 4alS La- 14k gale*
The truth is he was very shy < zuai aleall (e lgdda aplaii-
4. Apposition (to nouns like “fact”, “truth”, “explanation”)

e.g. The fact that he was shy surprised me.

“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the
fact”. We say that the noun clause is in apposition to the NP.

Note: “That” can sometimes be deleted in this case.
:Jadll /4
. explanation — truth — fact /Jis ¢ slau¥) &

The fact that he was shy surprised me /J%

4aaul 3 jbe > The fact

Jaall 153 saa] (That-clause)d! (s 58 2 5 ~> "Noun clause” 4u! ilaa 4~ > that he was shy
L Azauy)

aanlliain a<yi ©



I alaic) 5 i i
I ]
53 Ny 2
I Ju |
5 . (The fact) 4aew¥! 5 sl Ju s (that he was shy) Of 15 ¢ Jnal) (i Lagd Laadis- o
| 335m 50 sS3 Bale (S0s Allall oda 3 Aleall (ge 332 G (Sl (0 (that) AalS Gla¥) ey - 1Ak sale* J|
5 The fact he was shy surprised me < zu<i il
\ |
| Reported Speech: )|
| l
H° Reported speech can be either direct or indirect. °H
I |
e 1Jshiall Gldadld) s
. e e S 5tle 5% 5 sl cladl |
H |
U% a. Direct speech is quoting the actual words spoken by someone. In this case, we write the H
U% quoted sentence between quotation marks (“”). H
| I
Dj Lo aal e (Led Linaiun)) 2532500 28l ) LI (gl e 5 e 58 1 pdilsal) el (| H
I . |
W’ (“7) 25 LY Aadle cp AL Aleall (S5 cllal) 230 b T‘

b. Indirect speech is restating the words spoken by someone. We can use a “that-clause” to

[ report indirect speech. ]
Lo aal e (Led Laaian)) 53250 SN 4 lua sale) G b jle 5a 1 pdilae dd) Giladld) (@
H (4 sl LIS A2l U LiY) GAL@Y) Al aaiind of ¢y sy Lo salall oda H
i il e s oy eﬁ\i (That-clause) alasiv) LS ¢Allal) o3a i

e.g. The man says, “The road is closed.” (direct speech using quotation marks) ]
The man says (that) the road is closed. (indirect speech using a that-clause)
i ) $8Y) Liaadiinl ¢ ydilae clad > The man says, “The road is closed” /J%e pl

Lid"that! AadS Ladiul il & Gllad > The man says (that) the road is closed |

B. Wh-clauses °}

A wh-clause can have four of the functions of an NP. It can be: i

((Wh-) ) Jas - i

10553 ¢ NP L) 5 bl e iy 4 A 0585 0 oSadl) e

1. Subject of another clause

|

e.g. What caused the accident is a complete mystery. (= It is a complete mystery.) 1

|

5 Alead Joli /1

il

| aanlliaina.<8 © ]



What caused the accident is a complete mystery /J%
It is a complete mystery="It' szl dlaginl (Ko 5 <vise > What caused the accident
dad > s
2. Object of a verb in another clause
No one knows what caused the accident. (= No one knows it.)
ts A Adaa A Jadll Jgada [2
No one knows what caused the accident /J%«
Jeld > No one
J28 > knows

No one =(it) _seall dladul) (Sadl (e 5 ¢" knows" J=ill J 524 > what caused the accident
knows it

3. Complement of Subject +BE
The question is what caused the accident. (=The question is this.)
1A glsl) Jad 4 faiaall i Jo Al Alaga/3
The question is what caused the accident /J%
lxise > The question
Ll Jzd > s

¢(thig 5LV anly Ledlagiul (Saall (a5 ¢ 435380 Jadl 5 lxiall 1LSa > what caused the accident
The question is this <ga=i

4. Object of a preposition
This depends on what you want. (=This depends on it.)
1l dal Jprda /4
This depends on what you want /Jt«
Jelé > This
J=é > depends
> <a > on

This depends on it =(it) ssexall dlaiul Wiy 5« (on) sall <aal Js2ie > what you want
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Ui Exercise: ;u

U% What is the function of the underlined clause? H
f |
a. subjec . objec c. complemen . appositive
| bject b. object [ t d iti |
| [
W 1. The fact is that no one could do it. H
I . I
= Jeld > The fact &
- S+V (Be) -
TREN > is
| - ) JLSY Aaall b aga Wasa 5 Y ¢ ASe > that no one could do it )
! |
I c. complement: s& <l sall 13) |
| )
W 2. What he discovered was important for science. H

Jeld > What he discovered

LS J=d > was
a. subject: s <5l 1)
3. The fact that no one could do it disappointed me.
i (s 3 ke) Jeld > The fact A

(Aaen) das) Ju > that no one could do it
d. appositive: s < sall 13) J

4. Everyone knows that he made a great discovery. J

Jeléd > Everyone I

J=d > knows i

" knows" J=&ll J s2éx > that he made a great discovery
b. object : s& <l sall 1) )

5. The workers rely on what the manager has to say. )

A s> on J > rely Jelé > The workers J
(on) )l sl Js=ée > what the manager has to say 1

b. object : sa <l sall 1)

| aanlliain a <y © |
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Lecture 13

I Relative Clauses ]
| |
W Relative Clauses : H
\ |
= In Lecture 12, we discussed subordination and the types of subordinate clauses. We talked -
W’ in detail about the first type of subordinate clauses: noun clauses. In this lecture, we will H
W’ cover other types of subordinate clauses in more detail. H
) el
L gl Jasll g )l g 4Gl W38 ¢ e G 5 pualadl) )|
| e Jaall : 4l Jaall S0 g 5l e Junaiilly Liaas ]
| - ST ity 4l Jaall (5 AY1 g1 590 s 65 puslaall o2 S )
| 2. Relative Clauses J
I |
I A relative clause is a clause which mainly modifies a noun phrase. It usually begins with a |
I relative pronoun: “who”, “whom”, “whose”, “which” and “that”. J
| )
I e.g. 1. The car which he owns is very old. i
[ 1. Th hich h Id |
I |
W (The car is very old. He owns the car.) H

Sometimes the relative pronoun can be deleted (zero relative pronoun), but it still exists as
a grammatical position in the clause.

e.g. 2. Thecar he owns is very old. Bl

In example 1, the relative pronoun “which” is the object of the verb “owns”. Similarly, in )
example 2, the zero relative pronoun is the object of the verb “owns”. J

D 4l Jaall 1 gl ]

rgseadl) Jand)-2 i
D"‘o
e 3 lal) bl IS5 Jast A Jaall & L

23 e JS who, whom, whose, which, that 2l dwl) jilecally Jeall 038 fas Sale
LAl day afe aatin ald aladiu) ) jiledall

The car which he owns is very old /1J% :

o

dlaall o 5 (which) s& b aadiuall Lol jpauall 543003 )88 Lee 53 4aii dlaa & > which he owns )
. (owns) J=ill Jsmia 5a (which) ssemsall 5 udlin) cile shea Uitkhe | b ¢(car) 12isall Al & ik ]

|

i

38 13 sa 5 i (S5 ¢(zero relative pronoun)= e s iy 38 i) juaall lalll sy 4 * }
RIPEN| I JPPEN |

|

J

il

J
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The car he owns is very old /2J%

sl 5 (zero relative pronoun) = e (oaitl) el 5 4 dlaa Lee 53 4nii dlaa 2 > he owns
Mowns" Jadll Jgrie ga Ui ol

The relative pronoun points back to the head of the noun phrase modified by the relative

clause. The head of the NP is called the antecedent of the relative pronoun.

e.g. The man who called us yesterday has come to meet you. (the pronoun “who” points

back to the head of the NP “man”. “Man” in this sentence is called an antecedent.)
Agdl) ylaall (a8l jeaisll-antecedent) J) o Caaaiin GYI*
sl 38l A (e i 0 Al 5 jlall Gl U iy ) jpaall
il el (antecedent -pdiall Gl i) se x5 dpan) 5 jlall (il i

The man who called us yesterday has come to meet you /J%s

cdeld gl g 5 4l 5 e > The man
(Who) 2l jecall (antecedent -adiie (ul ) ) 585 (The man) e 3 lall Gl )1 8 > man
(man) Jelall A3 Wity 5 5 daan) Alaa 4 > who called us yesterday
M man” ol ) sis (who) 13 <" man” s 4l sl jeaiall 5 s e > who
e The Use of Relative Pronouns:
A. Personal Relative Pronouns
The personal relative pronouns “who” and “whom” are used with human antecedents.

e.g. 1. Thereis a man outside who wants to see you. (There is a man outside. The man

wants to see you.)

e.g. 2. Ahmed, who/whom | told you about yesterday, is here. (Ahmed is here. | told you

about Ahmed yesterday.)

=l & (antecedents —dagidl J..aUaJ\) (e el & e.\ii.ij Qi S dadl) yilaall (e 2=l LB Lag*
ey Gl jladl (ga

i) Al jiladal) -

.(human antecedents -cludy) ) i Al dexiall jealiall) g a2diud jlaa o4 (whom - who)

There is a man outside who wants to see you /1Jt«
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¢ el Al ey paie jaie s "mans "man” e 25 < who
There is a man outside. The man wants to see you : zuail Alaall 038 Jiad (Sa

Ahmed, who/whom | told you about yesterday, is here /2J%

¢ Ol ‘;\ Oy ladtie o) paie Laa s "Ahmed" ‘_A:; 122 < who/whom
Ahmed is here. | told you about Ahmed yesterday : zeail dleall o8 Joad (Say

Ahmed, who/whom | told you about yesterday, is here*
. daiaall Alaall 8 Jeld sls (Ahmed) 4elS Lia
Ahmed is here. | told you about Ahmed yesterday*
Aladidll dleall 8 4 J g2is cla (Ahmed) 4alS La
B. Non-Personal Relative Pronouns

The non-personal relative pronoun “which” is used to talk about animals, objects, places,

ideas... etc.

e.g. |wanta watch which is waterproof.

(i pd) dl) ekl -
(e e ppam 4l ) & AEY) 5 (S 5 L1 5 ) giall ae a2iiy s s (which)
| want a watch which is waterproof /J%

«( animals, objects, places, ideas... etc) e Ju "watch" s "watch" e 252 < which
(which) il jaall a38ia paic 0 " watch"-

C. Personal and Non-Personal Relative Pronouns

The relative pronouns “that” and “whose” are used with both personal and non-personal
antecedents.

e.g. 1. Thereis the driver that was speeding. (“that” used with the personal antecedent

“driver”)

e.g. 2.Thereis the car that was speeding. (“that” used with the non-personal antecedent

llcarll
D daadd il g dadldld) Al jiladalla

& s human antecedents -gbus¥! () i ) destiall jualiall) ae a2iind Jlaa 4 (Whose - that)
(S8 5 S 5 oLy EREPN

There is the driver that was speeding /1J%
4%wi dlea > that was speeding

(driven) s il sl 138 £ ) ply ool piia jumie ga sliadSid 5 g e > that
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i There is the car that was speeding /2t |
] Lo es > that was speeding i

(car) sa a8l paiall 138 ¢ add pe adile paic geslieddiul § ouwi pea > that

4 Note: “Whose” gives the idea of possession. Pl
| e.g. 1. The man whose car you borrowed wants to see you. (The man wants to see you. You )
U% borrowed his car.) H
I I
| e.g. 2. We saw the castle whose walls were made of rocks. (We saw the castle. Its walls I
| were made of rock.) )
| )
I :(whose) (alll jpasall (o 4l gala* Il
| . . |
ﬂ" (Whose) sill jpaall p28505 (paa gada g e Saaill Byl 13) H

The man whose car you borrowed wants to see you /1J%

L, 43 s > whose car you borrowed i
H (i _paa > whose H
.(Whose) ouill jpaall aiila paic s > man
e aas > (dal a3l () e 3,88 slacY La " Whose" Lieddiul-
1058 sadaall Alaall Juad L i 13)-
L The man wants to see you. You borrowed his car. Pl
H We saw the castle whose walls were made of rocks /2Jt« }
i |
H 43 dlea > whose walls were made of rocks ;
°"° (i _paa > whose &
H .(Whose) sill jaall aiia paic 4 > castle i
e J
H e oy > (Uaall (e de giac dalal) Gl s Ol) e 588 elhe L " Whose" Ll }
i |
H ki 8inall Alaad) Juad Ui i 131 ;
I il
H We saw the castle. Its walls were made of rock. ;
I il
| taga daslast I
i |
H Aleall i ol ppacall Jae 5 Lo wiaad oy ALY o3a Jial Jal die-1 ;
" a1 5 jlall 8 (l I Alaaldl 8 215G () S5 Laly Ll dleal)-2 *
:
i |
H malliaina.si ® H



e claiu) (Sa s aleall (B35 m e Al Aleall 13)-3

¢In the following section, we will talk about the third type of subordinate clauses: adverbial
clauses.

Al Jead) : el Jaall (e Gl g il e aaatin ¢ ) anll i*

Exercise.

Which of the subordinate clauses in each of the following sentences is a relative clause?
a. relative clause b. not a relative clause

1. The machine which makes plastic bottles is broken.

U3sa Lgiads 5 > which makes plastic bottles
add e Al paic > machine

sl lasa s (Y"which makes plastic bottles™laall s3a ce lixind) (e 13)*
(Alaall Sine (e il Y alisds 13 )

a. relative clause : s il sall

2. The manager is upset about what the worker told him.

AleSs Lisds s > what the worker told him
Jeld > manager

@ sl Lasa s ¥"what the worker told him"ieall sda (e slaiu¥) oSay Y T3
(Aleall ixa (g (it Laliida 13) )

b. not a relative clause : s &l sall

3. The problem is that he didn’t oil the machine.

ileSa lgiads 5 > that he didn’t oil the machine
lxise > problem

sl Lasa s o¥"that he didn’t oil the maching"leall o3 Ge liaiu¥) Koy ¥ T3I*
(leall ixa (ge (it Lalida 13) )

b. not a relative clause : s& <l sall

4. The worker that forgot to oil the machine is speaking with the manager.

U3ea Lgiths 5 > that forgot to oil the machine
=il pe sl paie > machine
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) asa s (¥"that forgot to oil the maching"lesll o3a e liaiu¥) Koy 131
(Aanl) ina (e (i Y Ll 13 )

a. relative clause : s il sall

5. They called a technician who could fix the machine.

U3sa Lgiads s > who could fix the machine
Gl ) oy il a8 paie > technician

sl asa s (¥"who could fix the maching"leall a3 e eliaiu¥) Koy 131
(Alaall Sine (e i Y lalidds 13 5)

a. relative clause : s il sall
Adverbial Clauses
3. Adverbial Clauses:

Similar to adverbs and adverb phrases, adverbial clauses allow us to talk about time, place
and manner.

: 48 Y dlaall -3

ol 5 S 5 el e Canlls L and Ayl Jasdl ¢ Tl i I el jlall 5 Goy il 4l g 53l 128
JERMIN

e.g. | met Ahmed in 2005. (adverbial phrase of time)

| met Ahmed when | was travelling. (adverbial clause of time.)

He parked his car here. (adverb of place)

He parked his car where there is a parking sign. (adverbial clause of place)

He drives carefully. (adverb of manner)
He drives as his father did. (adverbial clause of manner)
| met Ahmed in 2005 */Jt
Ol e Wi )la s e 4 > in 2005

| met Ahmed when | was travelling *

(28 As) gl e Wi 48 ks Alas ilge 5 (45 dlea & > when | was travelling
He parked his car here *
Ol e Blai 3 )l s jle A > here

He parked his car where there is a parking sign *

(28 As) oSl e Ui 3 )l dles e 5 €425 dles & > where there is a parking sign
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He drives carefully *

sl s bl e by s 5 sl oa > carefully

He drives as his father did *

(&5 2 s) Solu 5 bl e Uil 4 )k Al 1lge 5 ¢4 daa 4 > as his father did

” o«

Note: The words “when”, “where” and “as” in the previous sentences are subordinate
conjunctions.

Adadi cshe oy a (e B le A8 Jaall 4 "when- where- as "CllSl) (3l sl

Adverbial clauses also have functions similar to adverbs and adverb phrases. For example,
the adverbial clause in the following sentence is an adjunct:

e.g. | met Ahmed when | was travelling. (The adverbial clause “when | was travelling” is an

adjunct.)
it 5 Al el 8 Rl ALeal /e 31 el 5 o Bl g il 5 Lol A8 510 sl

| met Ahmed when | was travelling

(&b) Ledala § 438 Hla 430 Alea > when | was travelling
Compare: | met Ahmed in 2005. (The adverbial phrase “in 2005” is an adjunct.)
1458
| met Ahmed in 2005
200 Lk gy (gl 3l e Wi dé )k 5 5be 4 > jn 2005

¢ In the next section, we will look briefly at examples of some other types of subordinate
adverbial clauses.

byl el Jeall (5 a0 o) g8 anl 415 Laials 3 ydas 8l ¢ Ul auall 8%
28l Aail) Jaall (Al g1 8Y) Gand Al e 25k Al ¢ MU andll 8

Other Adverbial
Subordinate Clauses

Other Adverbial Subordinate Clauses :
4. Other Adverbial Subordinate Clauses

Please return my book if you finish reading it. (Conditional Clause)

Ahmed is quicker than | am. (Comparison Clause)
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H | couldn’t open the door because | used the wrong key. (Reason Clause) H
| ]
ﬂ° He closed the windows so that he wouldn’t hear the noise outside. (Purpose Clause) H
1 NPT ]
2 te A A8 )h dad Jas :
L rs A A )k At Jaa -4 A
| (if) > : Conditional Clause - &3k &) dlaal-1 )
! |
| Please return my book if you finish reading it /dte ¢ Al Caajs 1l
| . |
I (than) > : Comparison Clause - (4gzill) 4sluadill alaad)-2 Il
I . o I
= Ahmed is quicker than | am /JGa ¢ (il 45 )lae &
5 (because) > : Reason Clause - (duwll) 4jdhiall daal)-3 P
U% | couldn’t open the door because | used the wrong key /s ¢ L ¢ 2 Jae s a3 H
| )
I (so that) > : Purpose Clause - dxa_all dlaali-4 H
| )
W He closed the windows so that he wouldn’t hear the noise outside /J<a H
ouo :2& " go
l : o AY) 48l L) Jaad) g 48 B Jaad- J
I |
Uﬂ wiren, where, as- ||
I "subordinate conjunctions " &agll Calaall (s g a3 aa e |
H° 1, widn, necause, so that- H
I |
|
goo 5 Alaia & 3la i) sl 8 Lal Gl ¢ Aliadia g Aliaia e Al Zalll 3 Ll ()58 e LS ¢ Aliadla ** i
H‘; Ul (Alaiall dpasdll ylazll laliee " Personal Relative Pronouns'alaidl jyilazall e Jis) dlaiie :
H‘; .n".. L3l *:. 4) )31 AL L@—“‘ L}“L""\ L.’J‘; Lia L@.\A‘)ﬁ: é’:o
I J
I . fau . . . il
L . A goa gall Jaall gl Al Jaall ;lalies (Relative Clauses) of ]
Il |
I J
I il
I J
I il
I )
I il
b .
I il
b .
I il
b .
I il
b .
I il
b .
I il
b Jl
OL
J
I il
b |
I il
b J
I il
b J
I il
L 5
H, |
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